Commodity Code	<u>Description</u>	<u>Vendor</u>	<u>Unit of</u> <u>Measure</u>	Awarded Price	<u>Qty</u>	Extended Price
13000005	APRON BLICK DENIM #03489-520203489-5202	4305-BLICK ART MATERIALS LLC	EACH	\$5.11	21	\$107.31
13000034	Kiln shelf, Skutt individual, 1027-3 Series, half shelf.Z51193	6156-NASCO EDUCATION LLC	EACH	\$53.45	2	\$106.90
13000107	Artograph-LightTracer Light Box. Contains one 10" x 12" inch light box; brilliant LED illumination; slanted work surface, built in storage tray; 12 volt power adapter.2026815	7980-SCHOOL SPECIALTY LLC	EACH	\$47.35	2	\$94.70
13000120	Paper Cutter - Large 30 "x 30" heavy-duty paper cutter, 1/2" alignment grid; Xacto Brand10409	172200-KURTZ BROTHERS	EACH	\$299.61	1	\$299.61
13000155	Drying Rack, Portable, 100 Shelves Shelf Size 10 inch x 18 inch Spaced 1 inch Apart, AWT.51304-1006	4305-BLICK ART MATERIALS LLC	EACH	\$776.08	1	\$776.08
13000220	CLOTHESPINS, WOOD, 3 IN; Standard Natural Wooden Clothespins, Stain Proof, 3 inch, 200 Value Pack.3439790	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$16.99	5	\$84.95
13100004	BRUSHES; BLICK ROYAL LANGNICKEL CERAMIC GLAZE BRUSHES, CLASSROOM VALUE PACK; SET OF 16.1289641	7980-SCHOOL SPECIALTY LLC	SET	\$8.98	11	\$98.78
13100010	CLAY, FIRING, MOIST, CONE 06: Sedona Red Two 25 lb. blocks of moist clay in a 50 lb. carton firing.; Amaco 67M55158	172200-KURTZ BROTHERS	BOX	\$27.51	32	\$880.32
13100020	CLAY, FIRING, MOIST, CONE 06: TERRA COTTA, W/MEDIUM GROG Two 25 lb. blocks of moist clay in a 50 lb. carton AMACO351482	7980-SCHOOL SPECIALTY LLC	BOX	\$30.90	8	\$247.20
13100030	CLAY, FIRING, MOIST, CONE 06: WHITE TALC Two 25 lb. blocks of moist clay in a 50 lb. carton. AMACO - AMACO; 25M55140	172200-KURTZ BROTHERS	вох	\$27.51	51	\$1,403.01
13100064	CLAY, Flexible Clay,1.1 lb., Sargent Art, When dry: flexible 360 degree bending with breakage.34370-1001	4305-BLICK ART MATERIALS LLC	PKG	\$11.12	1	\$11.12
13100065	CLAY, Firing: Moist Clay; Buff Stoneware; 50 lb box, Amaco No. 4655152	172200-KURTZ BROTHERS	BOX	\$27.51	30	\$825.30
13100067	CLAYTOON MODELING CLAY: One pound assorted package; Earthtone Colors.33227-0089	4305-BLICK ART MATERIALS LLC	PACK	\$3.18	12	\$38.16
13100069	CLAYTOON MODELING CLAY: One pound assorted package; Neutral Colors.33227-0049	4305-BLICK ART MATERIALS LLC	PACK	\$3.18	3	\$9.54
13100085	RUBBER RIB; Kemper Rubber Rib No. 2 Kidney Shaped, pliabl rubber for smoothing and finishing pottery.30314-0000	4305-BLICK ART MATERIALS LLC	EACH	\$3.23	67	\$216.41
13100090	Clay Cutter, Wire. Kemper.172779 RICHESON	5718-CASCADE SCHOOL SUPPLIES INC	EACH	\$1.53	34	\$52.02
13100095	TEXTURE ROLLER: Amaco Clay Set of four 4 1/2 inch Rollers. Style 2.32643	5718-CASCADE SCHOOL SUPPLIES INC	SET	\$26.81	2	\$53.62
13100097	Decorating acessories; Mayco - designer linger, black, SG-401, 1.25 fluid ounces.30488-2013	4305-BLICK ART MATERIALS LLC	PACK	\$2.95	12	\$35.40
13100185	GLAZES CLEADON CLEAR MIXING GLAZE GALLON CONE 530489-2009	4305-BLICK ART MATERIALS LLC	EACH	\$72.02	1	\$72.02
13100190	GLAZE, GLOSS, AMBER, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F65.AAC38354J	930-W. B. MASON CO., INC	PINT	\$10.64	13	\$138.32

Commodity	Description	Vendor	Unit of	Awarded	Qty	Extended
<u>Code</u>	Description	<u>Veridor</u>	<u>Measure</u>	<u>Price</u>	Qty	<u>Price</u>
13100210	GLAZE, GLOSS, BLACK, JET, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F1.AAC38339S	930-W. B. MASON CO., INC	PINT	\$10.61	12	\$127.32
13100220	GLAZE, GLOSS, BLUE, LIGHT, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; AMACO F20.AAC38355K	930-W. B. MASON CO., INC	PINT	\$13.79	16	\$220.64
13100230	GLAZE, GLOSS, BLUE, NAVY, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; AMACO F21.AAC38356L	930-W. B. MASON CO., INC	PINT	\$13.79	11	\$151.69
13100240	GLAZE, GLOSS, BLUE, ROYAL, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F22.AAC38343W	930-W. B. MASON CO., INC	PINT	\$10.61	15	\$159.15
13100250	GLAZE, GLOSS, BURGUNDY, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F52 - 705351758.AAC38350E	930-W. B. MASON CO., INC	PINT	\$18.83	7	\$131.81
13100260	GLAZE, GLOSS, CHOCOLATE, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F30.AAC38345Y	930-W. B. MASON CO., INC	PINT	\$13.79	12	\$165.48
13100270	GLAZE, GLOSS, CLEAR TRANSPARENT, C05, F-SERIES Lead free; non-toxic; semi- opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F10.AAC38340T	930-W. B. MASON CO., INC	PINT	\$9.48	6	\$56.88
13100280	GLAZE, GLOSS, CLEAR TRANSPARENT Dipping Glaze, Lead free; non-toxic; semi- opaque. Fritted leadless glaze recommended for food and drinking containers; AMACO LG10 - 705423483.130312	5718-CASCADE SCHOOL SUPPLIES INC	GAL	\$43.50	5	\$217.50
13100290	GLAZE, GLOSS, CORAL, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; AMACO F57.AAC38363V	930-W. B. MASON CO., INC	PINT	\$18.83	9	\$169.47
13100300	GLAZE, GLOSS, EVERGREEN, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F43 .AAC38369C	930-W. B. MASON CO., INC	PINT	\$13.79	10	\$137.90
13100320	GLAZE, GLOSS, GRAY, WARM, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F15.AAC38342H	930-W. B. MASON CO., INC	PINT	\$13.79	11	\$151.69
13100330	GLAZE, GLOSS, GREEN, CELADON, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; AMACO F42 .AAC38359P	930-W. B. MASON CO., INC	PINT	\$10.61	17	\$180.37
13100340	GLAZE, GLOSS, GREEN, CHROME, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F40.AAC38346A	930-W. B. MASON CO., INC	PINT	\$13.79	4	\$55.16

Commodity	Description	Vendor	Unit of	Awarded	Otv	Extended	
<u>Code</u>	Description	vendor	<u>Measure</u>	<u>Price</u>	Qty	<u>Price</u>	
13100350	GLAZE, GLOSS, GREEN, LIGHT, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F41.AAC38347B	930-W. B. MASON CO., INC	PINT	\$10.61	12	\$127.32	
13100360	GLAZE, GLOSS, MAUVE, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F51.AAC38349D	930-W. B. MASON CO., INC	PINT	\$13.79	8	\$110.32	
13100370	GLAZE, GLOSS, ORANGE, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F66.AAC38366X	930-W. B. MASON CO., INC	PINT	\$14.48	13	\$188.24	
13100380	GLAZE, GLOSS, PEACH, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; AMACO F54.AAC38361S	930-W. B. MASON CO., INC	PINT	\$13.79	11	\$151.69	
13100390	GLAZE, GLOSS, PINK, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F55.AAC38351F	930-W. B. MASON CO., INC	PINT	\$11.58	10	\$115.80	
13100410	GLAZE, GLOSS, RED, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F58.AAC38365W	930-W. B. MASON CO., INC	PINT	\$13.14	14	\$183.96	
13100420	GLAZE, GLOSS, ROSE, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; AMACO F50.AAC38348C	930-W. B. MASON CO., INC	PINT	\$18.83	12	\$225.96	
13100430	GLAZE, GLOSS, SAND, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; AMACO F53.AAC38360R	930-W. B. MASON CO., INC	PINT	\$13.79	9	\$124.11	
13100440	GLAZE, GLOSS, TURQUOISE, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F25.AAC38344X	930-W. B. MASON CO., INC	PINT	\$13.79	15	\$206.85	
13100450	GLAZE, GLOSS, WHITE, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F11.AAC38341E	930-W. B. MASON CO., INC	PINT	\$10.61	7	\$74.27	
13100460	GLAZE, GLOSS, YELLOW, GOLDEN, C05, F-SERIES Lead free; non-toxic; semi-opaque. Fritted leadless glaze recommended for food and drinking containers; Amaco F60.AAC38352G	930-W. B. MASON CO., INC	PINT	\$10.61	6	\$63.66	
13100470	GLAZE, GLOSS, YELLOW, LEMON, C05, F-SERIES Lead free; non-toxic; semi-opaque fritted leadless glaze recommended for food and drinking containers; Amaco F61.AAC38353l	930-W. B. MASON CO., INC	PINT	\$10.61	16	\$169.76	
13100471	GLAZE, GLOSS; VIVID BLUE CO5; F-SERIES Lead Free; non-toxic, semi-opaque fritted leadless glaze AMACO F23.AAC38367A	930-W. B. MASON CO., INC	PINT	\$13.79	6	\$82.74	
13100502	Glaze, Amaco Crystaltex glaze, Pint, CTL-42, Fantasia173804	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$15.75	1	\$15.75	

Commodity	Description	Vendor	<u>Unit of</u>	<u>Awarded</u>	Qty	Extended
<u>Code</u>			<u>Measure</u>	<u>Price</u>	<u>ucy</u>	<u>Price</u>
13100505	Glaze, Amaco crystaltex glaze, Pint, CTL-12, Mardi Gras.173791	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$15.75	2	\$31.50
13100509	Glaze, Amaco Crystaltex glaze, Pint, CTL-11, Snow Fire.173790	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$15.75	3	\$47.25
13100516	GLAZES, Textured Alligator Glazes; Cone 06-05; LT-12 SPECKLED GREEN; Amaco.172571	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$11.13	1	\$11.13
13100670	GLAZES, Opalescent Glazes; Cone 05; O-2 BLACK TULIP. Amaco -172417	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$12.08	1	\$12.08
13100680	GLAZES, Opalescent Glazes; Cone 05; O-10 TRANSPARENT PEARL. Amaco -172420	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$12.08	3	\$36.24
13100690	GLAZES, Opalescent Glazes; Cone 05; O-12 TAWNY. Amaco -172422	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$12.08	1	\$12.08
13100700	GLAZES, Opalescent Glazes; Cone 05; O-20 BLUEBELL. Amaco.172430	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$12.08	6	\$72.48
13100710	GLAZES, Opalescent Glazes; Cone 05; O-21 AQUAMARINE. Amaco -172431	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$12.08	1	\$12.08
13100720	GLAZES, Opalescent Glazes; Cone 05; O-23 SAPPHIRE BLUE. Amaco -172433	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$12.08	3	\$36.24
13100730	GLAZES, Opalescent Glazes; Cone 05; O-26 TURQUOISE. Amaco -172436	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$12.08	1	\$12.08
13100740	GLAZES, Opalescent Glazes; Cone 05; O-30 AUTUMN LEAF. Amaco -172440	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$13.00	1	\$13.00
13100750	GLAZES, Opalescent Glazes; Cone 05; O-42 MOSS GREEN. Amaco.172444	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$12.08	4	\$48.32
13100760	GLAZES, Opalescent Glazes; Cone 05; O-52 FUSCHIA. Amaco.172450	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$12.08	4	\$48.32
13100770	GLAZES, Opalescent Glazes; Cone 05; O-54 DUSTY ROSE. Amaco -172452	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$12.08	2	\$24.16
	GLAZES, Opalescent Glazes; Cone 05; O-57 MOTTLED BURGUNDY. Amaco - 9300114G172455	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$12.08	1	\$12.08
13100810	GLAZE, MATTE, BLUE-GREEN, C05 Soft, satin-like finishes; non-flowing; Amaco LM 244.174009	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$12.08	1	\$12.08
13100898	Glaze, Potters Choice Glaze, Pint, Fire to Cone 5, PC-49 Frosted Melon32684	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$10.88	2	\$21.76
13100901	Glaze, Poters Choice glaze, pint, fire to cone 5, PC-21 Arctic Blue.32675	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$10.88	2	\$21.76
13100906	Glaze, Potters Choice Glaze, Pint, Fire to Cone 5, PC-45, Dark green.9723896AN	6156-NASCO EDUCATION LLC	PINT	\$13.40	2	\$26.80
13100908	Glaze, Potters Choice glaze, Pint, Fire to Cone 5, PC-29 Deep Olive Speckle.31635	5718-CASCADE SCHOOL SUPPLIES INC	PONT	\$12.00	5	\$60.00
13100909	Glaze, Potters Choice, Pint, Fire to Cone 5, PC-52 Deep Sienna Speckle.31638	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$12.00	2	\$24.00
13100912	Glaze, Potters Choice Glaze, Pint, Fire to Cone 5, PC-23 Indigo Float.30671	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$10.87	5	\$54.35
	GLAZE; AMACO POTTERS CHICE CONE 5 GLAZE; ART DECO GREEN PC 48; GALLON.30446-7909	4305-BLICK ART MATERIALS LLC	GAL	\$86.19	2	\$172.38
13100943	GLAZE, Amaco Potters choice cone 5 glaze Blue Rutile, PC 20; Gallon.30446-5019	4305-BLICK ART MATERIALS LLC	GAL	\$70.80	2	\$141.60
13100948	GLAZE, AMACO POTTERS choice cone 5 glaze Iron Luster PC PC-33; GALLON.30446-3779	4305-BLICK ART MATERIALS LLC	GAL	\$70.80	2	\$141.60
13100952	GLAZE, AMACO POTTERS CHOICE CONE 5 GLAZE; OATMEAL PC-31; GALLON.30446-1129	4305-BLICK ART MATERIALS LLC	GAL	\$70.80	1	\$70.80

Commodity	Description	Vondon	Unit of	Awarded	Othe	Extended
<u>Code</u>	Description	<u>Vendor</u>	<u>Measure</u>	<u>Price</u>	<u>Qty</u>	<u>Price</u>
13100953	GLAZE;AMACO POTTERS CHOICE CONE 5 GLAZE; TOMMOKU PC 30; GALLON30446- 1059	4305-BLICK ART MATERIALS LLC	GAL	\$70.80	1	\$70.80
13101020	KILN WASH Painted on kiln shelves for glaze firing; 5 pound carton, RA03514351623ALT SZ 4LB	7980-SCHOOL SPECIALTY LLC	PACK	\$19.35	1	\$19.35
	Kiln Element Pins, hold loose kiln elements in place. Element pins have sharp ends for easy insertion in the kiln wall. These pins are made of a heat-resistant alloy for temperatures up to 2500 degree F (cone 13).32930-1012	4305-BLICK ART MATERIALS LLC	DOZ.	\$2.89	6	\$17.34
	SHELF SUPPORTS;AMACO SHELF SUPPORTS 1 INCH X 1 INCH X 4 INCH. MULLITE PROPS AND SHELF SUPPORTS. MAXIMUM CONE 10.173058	5718-CASCADE SCHOOL SUPPLIES INC	EACH	\$2.39	3	\$7.17
	SHELF SUPPORTS; AMACO SHELF SUPPORTS 1 INCH X 1 INCH X 6 INCH, MULLITE PROPS AND SHELF SUPPORTS. MAXIMUM CONE 10.173059	5718-CASCADE SCHOOL SUPPLIES INC	EACH	\$3.55	3	\$10.65
	SHELF SUPPORTS; AMACO SHELF SUPPORTS 1 INCH X 1 INCH X 7 INCH, MULLITE PROPS AND SHELF SUPPORTS. MAXIMUM CONE 10.30129-1171	4305-BLICK ART MATERIALS LLC	EACH	\$3.74	6	\$22.44
	SHELF SUPPORTS; AMACO SHELF SUPPORTS; 1 INCH X 1 INCH X 8 INCH. MULLITE PROPS AND SHELF SUPPORTS. MAXIMUM CONE 10.30129-1181	4305-BLICK ART MATERIALS LLC	EACH	\$3.83	6	\$22.98
13101100	TOOL, Needle Toil 6 1/8" long. RICHESON; 210529.9716649	6156-NASCO EDUCATION LLC	EACH	\$2.77	6	\$16.62
13101110	TOOL, Potter's cut-off needles 5 1/2" long. SAX 705 450263 - 14800309731960 KEMPER	6156-NASCO EDUCATION LLC	EACH	\$1.01	11	\$11.11
13101130	TOOL, Fetting Knife Hard tempered steel blade. Richeson.4300199	6156-NASCO EDUCATION LLC	EACH	\$4.39	10	\$43.90
13101150	TOOL, 6.5" clean up tool. Kemper -236157	7980-SCHOOL SPECIALTY LLC	EACH	\$2.40	8	\$19.20
	TOOL, RIBBON, DOUBLE END, LG ROUND LOOP/SM ROUND LOOP 7 1/2" wood or alum. w/cutting ends formed of watch spring steel; sharp and long lasting. KEMPER brand.889204	8551-ODP BUSINESS SOLUTIONS LLC	EACH	\$19.39	8	\$155.12
13101240	UNDERGLAZE, Amaco Semi-Moist, Set A - Maroon, It yellow, dark blue, blue-green, dk green, black, It. brown, white. No Subs Amaco - 56475437678	7980-SCHOOL SPECIALTY LLC	SET	\$29.90	3	\$89.70
	UNDERGLAZE, Amaco Semi-Moist, Set B - turquoise, lilac, med. blue, pink, wm, gray, mahogany, bright yellow, irish green. No Sub. Amaco - 56476172768	5718-CASCADE SCHOOL SUPPLIES INC	SET	\$28.39	3	\$85.17
	UNDERGLAZE, Amaco Semi-Moist, Set C-purple, lt. blue, aqua, rose, orange, peach, chartreuse, sun tan, No Sub. Amaco 110 - 56477172769	5718-CASCADE SCHOOL SUPPLIES INC	SET	\$28.39	3	\$85.17
	UNDERGLAZE, Amaco Semi-Moist, Set D - electric blue, amethyst, violet, red, lt. red, salmon, real orange, hunter green, No Sub. Amaco 111.220011	7980-SCHOOL SPECIALTY LLC	SET	\$29.90	3	\$89.70
13101340	UNDERGLAZE Pencil, Black. Amaco 11420F.30438-2020	4305-BLICK ART MATERIALS LLC	EACH	\$11.39	6	\$68.34
13101350	UNDERGLAZES, Velvet; Cone 05-06; V-308 Yellow; No Sub. Amaco -402782	7980-SCHOOL SPECIALTY LLC	PINT	\$18.20	2	\$36.40
	UNDERGLAZES, Velvet; Cone 05-06; V309 Deep Yellow; No Sub. Amaco - 705402783402783	7980-SCHOOL SPECIALTY LLC	PINT	\$18.20	1	\$18.20
13101370	UNDERGLAZES, Velvet; Cone 05-06; V318 Rose; No Sub. Amaco -402785	7980-SCHOOL SPECIALTY LLC	PINT	\$18.20	1	\$18.20
13101380	UNDERGLAZES, Velvet; Cone 05-06; V320 Lavender; No Sub. Amaco -402786	7980-SCHOOL SPECIALTY LLC	PINT	\$26.00	1	\$26.00

Commodity	[Unit of	Awarded		Extended	
Code	<u>Description</u>	<u>Vendor</u>	Measure	Price	<u>Qty</u>	Price	
13101390	UNDERGLAZES, Velvet; Cone 05-06; V-322 Purple; No Sub. Amaco - 705402788402788	7980-SCHOOL SPECIALTY LLC	PINT	\$18.20	1	\$18.20	
13101400	UNDERGLAZES, Velvet; Cone 05-06; V-325 Baby Blue; No Sub. Amaco - 705402789402789	7980-SCHOOL SPECIALTY LLC	PINT	\$18.20	1	\$18.20	
13101410	UNDERGLAZES, Velvet; Cone 05-06; V-326 Medium Blue; No Sub. Amaco - 705402791402791	7980-SCHOOL SPECIALTY LLC	PINT	\$18.20	1	\$18.20	
13101420	UNDERGLAZES, Velvet; Cone 05-06; V-332 Teal Blue; No Sub. Amaco - 705402792402792	7980-SCHOOL SPECIALTY LLC	PINT	\$18.20	1	\$18.20	
13101430	UNDERGLAZES, Velvet; Cone 05-06; V-336; Royal Blue; No Sub. Amaco - 705402793402793	7980-SCHOOL SPECIALTY LLC	PINT	\$37.70	2	\$75.40	
13101440	UNDERGLAZES, Velvet; Cone 05-06; V-341 Blue Green; No Sub. Amaco -402794	7980-SCHOOL SPECIALTY LLC	PINT	\$18.25	2	\$36.50	
13101450	UNDERGLAZES, Velvet; Cone 05-06; V-345 Light Green; No Sub. Amaco - 705402795402795	7980-SCHOOL SPECIALTY LLC	PINT	\$18.25	1	\$18.25	
13101460	UNDERGLAZES, Velvet; Cone 05-06; V-353 Dark Green; No Sub. Amaco - 705402797402797	7980-SCHOOL SPECIALTY LLC	PINT	\$18.25	2	\$36.50	
13101480	UNDERGLAZES, Velvet; Cone 05-06; V-360 White; No Sub. Amaco - 705402799402799	7980-SCHOOL SPECIALTY LLC	PINT	\$18.20	2	\$36.40	
13101490	UNDERGLAZES, Velvet; Cone 05-06; V-361 Jet Black; No Sub. Amaco - 705402800402800	7980-SCHOOL SPECIALTY LLC	PINT	\$18.20	2	\$36.40	
13101500	UNDERGLAZES, Velvet; Cone 05-06; V-366 Teddy Bear Brown; No Sub. Amaco -402801	7980-SCHOOL SPECIALTY LLC	PINT	\$18.20	1	\$18.20	
13101520	UNDERGLAZES, Velvet; Cone 05-06; V-375 Maroon; No Sub. Amaco -9727979AY	6156-NASCO EDUCATION LLC	PINT	\$40.44	1	\$40.44	
13101540	UNDERGLAZES, Velvet; Cone 05-06; V-381 Amethyst; No Sub. Amaco -402806	7980-SCHOOL SPECIALTY LLC	PINT	\$37.70	1	\$37.70	
13101550	UNDERGLAZES, Velvet; Cone 05-06; V-382 Red; No Sub. Amaco - 705402807402807	7980-SCHOOL SPECIALTY LLC	PINT	\$37.70	1	\$37.70	
13101570	UNDERGLAZES, Velvet; Cone 05-06; V-364 Real Orange; No Sub. Amaco - 705402810; V-384402810	7980-SCHOOL SPECIALTY LLC	PINT	\$37.70	2	\$75.40	
13101580	UNDERGLAZES, Velvet; Cone 05-06; V-386 Electric Blue; No Sub. Amaco -402812	7980-SCHOOL SPECIALTY LLC	PINT	\$18.25	1	\$18.25	
13101600	UNDERGLAZE, LIQUID, BLACK Lead free; concentrated; opaque; Amaco LUG 1 - 705437597.172671	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$5.09	2	\$10.18	
13101830	WAX RESIST Non-toxic wax emulsion Amaco - 9715465424058	7980-SCHOOL SPECIALTY LLC	PINT	\$15.25	3	\$45.75	
13103300	Glaze, Speckled Stroke & Coat Kit 3 - SR-KT2P - 12 pint bottles of each color: specked cotton tail, speckled sunkissed, speckled blue heaven, speckled yonder blue, speckled mood blue, speckled grapel, speckled pink-a-dot, speckle30408-1011	4305-BLICK ART MATERIALS LLC	KIT	\$157.38	1	\$157.38	
13103310	Glaze,Stroke & Coat Kit 1-SC-KT1P - 12 pint bottles of each color: Cotton Tail, sunkissed, orange-a-peel, rosey posey, grapel, blue yonder, moody blue, green thumb, irish luck, java bean, tuxedo.55443	172200-KURTZ BROTHERS	KIT	\$120.58	5	\$602.90	

Commodity Code	<u>Description</u>	<u>Vendor</u>	<u>Unit of</u> <u>Measure</u>	Awarded Price	<u>Qty</u>	Extended Price
13103314	Glaze, Stroke & Coat Kit 3 - SC-KT3P - 12 pint bottles of each color: cotton tail, sunkissed, jack 0'lantern, candy apple red, pink-a-boo, wine about it, the blues, moody blue, sour apple, irish luck, camel back, tuxedo.55445	172200-KURTZ BROTHERS	KIT	\$120.58	1	\$120.58
13103330	GLAZE, STROKE & COAT; SC-15; Mayco Stroke and Coat Glaze. SC-15 Tuxedo Black, pint. Mayco55458	172200-KURTZ BROTHERS	PINT	\$10.44	3	\$31.32
13200020	BLADES, REPLACEMENT, HOBBY KNIFE, #11 Pkg. of 100 (for knife #1).42429	172200-KURTZ BROTHERS	PACK	\$9.74	1	\$9.74
13200070	Knife, Hobby #01 X-Acto - SAX.57445-1101	4305-BLICK ART MATERIALS LLC	EACH	\$3.70	3	\$11.10
13200098	MAT, CUTTING MAT; Self Healing Cutting Mat, 24 inches x 36 inches, Dahle Brand, Five layers of PVC give these mats maximum self-healing capability and prolonged life.10134	172200-KURTZ BROTHERS	EACH	\$13.40	4	\$53.60
13200110	SCISSORS, 5 inch, School, pointed Surgical steel, heavyweight school scissors, with universal ring handles; Fiskars 9430.9430 FISKARS	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	DOZ	\$17.38	4	\$69.52
13200120	SCISSORS, 5" inch, School, with safety rounded tip - Blunt; Surgical steel, heavyweight school scissors, with universal ring handles; Fiskars 9416.9416 FISKARS	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	DOZ	\$17.38	97	\$1,685.86
13200130	SCISSORS, 7" inch, School Surgical steel, heavyweight school scissors; universal ring handles both hands; Fiskars 9458.502351	8551-ODP BUSINESS SOLUTIONS LLC	DOZ	\$9.19	7	\$64.33
13200150	Sharpener, Boston Heavy-Duty Electric Pencil Sharpener; No. Sub. Boston 1818.EPI 1818X	930-W. B. MASON CO., INC	EACH	\$19.12	4	\$76.48
13200151	Sharpener, Heavy-Duty Powerhouse Electric Pencil Sharpener; No. Sub. X-ACTO Model # 1799.X-ACTO 1799	8055-STAPLES INC	EACH	\$21.39	3	\$64.17
13200153	Sharpener, PRISMCOLOR For Use With Colored Pencils and Graphite Transparent Housing 21422-10021400845	7980-SCHOOL SPECIALTY LLC	EACH	\$4.55	12	\$54.60
13200154	HEAVY DUTY SHARPENER: Xacto High Volume Electric Sharpener #1606.1606 XACTO	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	EACH	\$90.18	3	\$270.54
13200155	PENCIL SHARPENER; X-ACTO SchoolPro Classroom Electric Pencil Sharpener, Heavy Duty, Blue/Grey. x-acto595671	8551-ODP BUSINESS SOLUTIONS LLC	EACH	\$28.23	41	\$1,157.43
13200160	SHEARS, 8", LEFT HAND Surgical steel; FISKARS 2100 - FISKARS; 2100.10336	172200-KURTZ BROTHERS	EACH	\$8.90	1	\$8.90
13200170	Shears, 8", right hand, Surgical Steel. Fiskars 2100 - FISKARS; 2100245996	7980-SCHOOL SPECIALTY LLC	EACH	\$7.65	12	\$91.80
13200190	Staple Gun Staples, 1/4" leg staples for Powershot; 1000/box13323 55014	172200-KURTZ BROTHERS	BOX	\$1.18	2	\$2.36
13201600	Pliers, Budget Cushion Grip, Long nose, Serrated jaws, Average Length is 4 1/2 inches, drop forged, lap joint pliers.565858	7980-SCHOOL SPECIALTY LLC	EACH	\$5.90	7	\$41.30
13300020	CHALK, Colored Set, Art, 24 Colors Assortment of standard size chalk sticks; 3 3/16" by 3/8";soft, smooth, blending art chalks; Crayola 404.Crayola 51-0404	205620-PYRAMID SCHOOL PRODUCTS	SET	\$3.09	3	\$9.27
13300023	CHALK; JUMBO SIDEWALK; Giant Box of Jumbo Sidewalk Chalk, 126 Pieces, 9 Colors. Bulk Set Color Splash Outdoor Colored Chalk for Kids and Toddlers Ages 3+, Non-Toxic.361863	8551-ODP BUSINESS SOLUTIONS LLC	BOX	\$8.29	27	\$223.83

Commodity	Description	Vendor	<u>Unit of</u>	<u>Awarded</u>	Qty	Extended
<u>Code</u>	<u>Bessinguion</u>	<u>vondor</u>	<u>Measure</u>	<u>Price</u>	<u>uty</u>	<u>Price</u>
	CHARKOLE SQUARES, ALPHACOLOR QUARTETT CHAR-KOLE SQUARES, 12 STCKS PER BOX, 2.75 X 7/16 SQUARE, EXCELLENT RICH BLACK BLENDS140338	5718-CASCADE SCHOOL SUPPLIES INC	BOX	\$6.85	2	\$13.70
13300030	CHARCOAL, VINE STICKS, BOX OF 25 6" sticks; Jack Richeson - 49101Richeson 870002	205620-PYRAMID SCHOOL PRODUCTS	BOX	\$7.95	5	\$39.75
13300032	CHARCOAL NITRAM POWDERED 6 OZ22692-1006	4305-BLICK ART MATERIALS LLC	EACH	\$20.88	1	\$20.88
	COMPASS, School Safe-T doubles as straight edge,ruler,scribe, hole cutting tool; makes circles 1/4 "dia. to 10 " dia.; non - breakable; won't rust;works W/almost any line making instrument or swivel knife.06226	172200-KURTZ BROTHERS	DOZ	\$15.12	2	\$30.24
13300070	CRAYON, HARD PASTEL, BLACK 2B 12/box; CONTECONTE 50238	205620-PYRAMID SCHOOL PRODUCTS	BOX	\$12.29	1	\$12.29
13300100	CRAYON, HARD PASTEL, WHITE B 12/box; CONTEConte 50234	205620-PYRAMID SCHOOL PRODUCTS	BOX	\$12.29	2	\$24.58
	CRAYONS, CRAYOLA, 96 COLOR SET, Regular Size 3 5/8 inch x 5/16 inch; Clean, Permanent, Waterproof; Labeled; Tuck Boxes; CRAYOLA.CYO 520096	930-W. B. MASON CO., INC	SET	\$4.00	38	\$152.00
	CRAYONS, FLUORESCENT, SET OF 8 Regular size 3 5/8"x 5/16"; clean; permanent; waterproof; labeled; set of 8 colors in tuck box; Crayola.CYO523418	930-W. B. MASON CO., INC	SET	\$0.55	36	\$19.80
13300148	PENS SAKURA PIGMA MICRON - SET OF 6. BLACK. 00524569	5718-CASCADE SCHOOL SUPPLIES INC	SET	\$11.03	2	\$22.06
13300149	PENS SAKURA PIGMA MICRON - SET OF 8. BLACK. ASSORTED SIZES1437868	7980-SCHOOL SPECIALTY LLC	SET	\$13.05	14	\$182.70
	CRAYONS, REFILL STICKS, BLACK Regular size 3 5/8" x 5/16"; clean; permanent; waterproof; labeled; boxes of 12/color; CRAYOLA 45109.007635	7980-SCHOOL SPECIALTY LLC	BOX	\$1.11	7	\$7.77
	CRAYONS, REFILL STICKS, BLUE Regular size 3 5/8"x 5/16"; clean; permanent; waterproof; labeled; boxes of 12/color; CRAYOLA 45104.007638	7980-SCHOOL SPECIALTY LLC	BOX	\$1.11	12	\$13.32
13300200	CRAYONS, REFILL STICKS, GRAY Regular size 3 5/8"x 5/16"; clean; permanent; waterproof; labeled; tuck boxes of 12/color; CRAYOLA 45112.007647	7980-SCHOOL SPECIALTY LLC	вох	\$0.70	1	\$0.70
13300240	CRAYONS, REFILL STICKS, RED Regular size 3 5/8"x 5/16"; clean; permanent; waterproof; labeled; boxes of 12/color; CRAYOLA 45102.007659	7980-SCHOOL SPECIALTY LLC	BOX	\$1.11	7	\$7.77
	CRAYONS, REFILL STICKS, VIOLET Regular size 3 5/8"x 5/16"; clean; permanent; waterproof; labeled; boxes of 12/color; CRAYOLA 45107.007662	7980-SCHOOL SPECIALTY LLC	ВОХ	\$0.70	1	\$0.70
	CRAYONS, REFILL STICKS, WHITE Regular size 3 5/8"x 5/16"; clean; permanent; waterproof; labeled; tuck boxes of 12/color; CRAYOLA 45184.007665	7980-SCHOOL SPECIALTY LLC	BOX	\$0.80	10	\$8.00
13300280	CRAYONS, REFILL STICKS, YELLOW Regular size 3 5/8"x 5/16"; clean; permanent; waterproof; labeled; boxes of 12/color; CRAYOLA 45103.007668	7980-SCHOOL SPECIALTY LLC	BOX	\$0.80	11	\$8.80
13300300	CRAYONS, WATERCOLOR, Set of 8 watercolor crayons in liftlid box; Dixon Payons.136273	5718-CASCADE SCHOOL SUPPLIES INC	SET	\$5.26	24	\$126.24
	CRAYONS, Caran D'ache Neocolor II Water-Soluable Artista Crayons; 15 color set; No Sub. Caran D'arche.20042-1509	4305-BLICK ART MATERIALS LLC	SET	\$24.49	12	\$293.88
13300331	CRAYONS, LYRA Crayons Watercolor Crayons, 24 Colors.LYRA 5611240	205620-PYRAMID SCHOOL PRODUCTS	SET	\$21.49	15	\$322.35
13300340	CRAYONS - Crayola Construction Paper Crayons; Regular size crayons; Box of 16 colors. Crayola - CRAYOLA; 5816CYO525817	930-W. B. MASON CO., INC	SET	\$1.57	30	\$47.10

Commodity	Passwintian	Vandor	Unit of	Awarded	Ofer	Extended
<u>Code</u>	Description	<u>Vendor</u>	<u>Measure</u>	<u>Price</u>	<u>Qty</u>	<u>Price</u>
13300350	CRAYONS - Crayola Construction Paper Crayon Classpack - 160 Large Size Crayons; Sturdy, compartmentalized packaging; re-usable storage unit; contains 20 each of the following colors: pink, orange, yellow, green, blue, purple, whit52-8059	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	PACK	\$24.80	1	\$24.80
13300356	GEOMETRIC SOLIDS; WHITE; SET OF 6; Nasco9725407	6156-NASCO EDUCATION LLC	SET	\$17.56	18	\$316.08
13300366	School Smart Dry Erase Boards, Unruled, 9 x 12 Inches, White, Pack of 10 - School Smart Dry Erase Boards are designed from a high quality melamine laminated base with an unruled (blank/plain) surface. Rounded corners lend addition1325120		SET	\$8.20	25	\$205.00
13300401	Eraser, Dust Free Vinyl, Tub of 100 for Graphite and Colored Pencils; Faber-Castell.1462974	7980-SCHOOL SPECIALTY LLC	TUB	\$35.40	3	\$106.20
13300410	ERASER, KNEADED, LARGE 2" X 2"; Prismacolor,12224 -70531	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	DOZ	\$5.88	7	\$41.16
13300420	ERASER, Kneaded, Medium 1 3/4" x 1 3/4"; 24/box; Faber-Castell, 70530.70530	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	BOX	\$8.10	5	\$40.50
13300430	ERASER, PLASTIC/VINYL, Translucent; oblong; BOX of 12; Sanford 1954 - 732016190	5718-CASCADE SCHOOL SUPPLIES INC	BOX	\$5.56	1	\$5.56
13300440	ERASER, Prisma Color Magic Rub ;quality vinyl; latex free; 2 1/4" x 1"x 7/16"; 12/Pack73201PRISMCOLOR	8055-STAPLES INC	PACK	\$5.16	30	\$154.80
13300445	REFILLABLE ERASER, Tombow Mono Zero Refillable Eraser; with tips in two shapes and sizes, square and round. The refillable Mono Zero has a pen-style body that's easy to use an store.21576-2050	4305-BLICK ART MATERIALS LLC	EACH	\$3.04	5	\$15.20
13300446	REFILLABLE ERASER, Tombow Mono Zero Refillable Eraser Refills, Rectangular 2.5mm x 5 mm.21576-1020; 2PK	4305-BLICK ART MATERIALS LLC	EACH	\$1.46	5	\$7.30
13300450	Fixative, Clear Permanent, protective coating for finished work; non-yellowing; clear; quick drying; Krylon 1301.416155	7980-SCHOOL SPECIALTY LLC	PINT	\$9.60	6	\$57.60
13300460	Fixative, workable Protects drawn materials; matte finish; no smudge, wrinkle or offensive odor; ideal surface for reworking; quick drying; KRYLON.52094 ALT 52094	172200-KURTZ BROTHERS	PINT	\$7.63	4	\$30.52
13300465	GRAPHITE POWDER. GENERAL'S - 3.4 OZ82033-1001	4305-BLICK ART MATERIALS LLC	EACH	\$15.43	1	\$15.43
13300530	INK, INDIA, Waterproof BLACK, 32 OZ. BOTTLE; opaque; non-streaking; Higgins.424917	7980-SCHOOL SPECIALTY LLC	EACH	\$13.30	2	\$26.60
13300533	MANIKINS, BLICK Hardwood 12 Inch Female; B21601-1012.21651-1004	4305-BLICK ART MATERIALS LLC	EACH	\$5.50	1	\$5.50
13300534	MANIKINS, BLICK Hardwood 12 in; Male; B21601-1112.21651-1003	4305-BLICK ART MATERIALS LLC	EACH	\$5.50	15	\$82.50
13300550	MARKER, Calligraphic, permanent black, 2.5 mm medium point Chisel-edged tip; SAKURA Brand.SPEEDBALL 2802	205620-PYRAMID SCHOOL PRODUCTS	DOZ	\$12.95	1	\$12.95
13300562	MARKERS, Copic Sketch, set of 3621395-0369	4305-BLICK ART MATERIALS LLC	SET	\$180.50	6	\$1,083.00
13300564	MARKERS, Copic Sketch Markers, Set A; Basic set of 72 colors, offering a broad range of color and gray values.21395-0721	4305-BLICK ART MATERIALS LLC	SET	\$360.98	1	\$360.98

Commodity	Description	Vendor	Unit of	Awarded	Qty	Extended
<u>Code</u>	<u> </u>	<u>vendor</u>	<u>Measure</u>	<u>Price</u>	<u>uty</u>	<u>Price</u>
13300565	MARKERS, Copic Sketch Markers; Set B, Supplemental set of 72 colors, with an emphasis on flesh tones and colors used in anime illustration.21395-0722	4305-BLICK ART MATERIALS LLC	SET	\$360.98	1	\$360.98
13300566	MARKERS, Copic Sketch Markers; Set C, Supplemental set of 72 colors, with an emphasis on gray values and colors used in professional design and illustration.21395-0723	4305-BLICK ART MATERIALS LLC	SET	\$360.98	1	\$360.98
13300569	MARKER SET, Crayola super Tips Marker Set -100 count.20465	172200-KURTZ BROTHERS	SET	\$13.99	17	\$237.83
13300570	MARKER, PERMANENT, 8 COLOR set, Chisel tip, non-toxic AP certified; Sanford SHARPIE.SAN 38250PP	930-W. B. MASON CO., INC	SET	\$5.68	37	\$210.16
13300580	MARKER, Permanent, Chisel Tip, Black, Non-toxic AP certified; Sanford SHARPIE.31835	5718-CASCADE SCHOOL SUPPLIES INC	DOZ	\$8.32	8	\$66.56
13300590	MARKER, Permanent, 8 COLOR set, Fine Tip, 08 Colors AP certified non-toxic; Sanford SHARPIE.Sharpie 30217PP	205620-PYRAMID SCHOOL PRODUCTS	SET	\$4.59	24	\$110.16
13300600	MARKER, Permanent, Fine Tip, Black, Non-Toxic AP certified; Sanford SHARPIE.30001	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	DOZ	\$5.50	88	\$484.00
13300665	MARKER, Sharpie Metallic Permanent Markers, Fine Point, SILVER. Pack of 6.39100-6	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	PACK	\$5.98	10	\$59.80
13300671	MARKER, PERMANENT, EXTRA FINE TIP, BLACK; AP certified nontoxic; Sanford SHARPIE.37001	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	DOZ	\$5.50	73	\$401.50
13300676	MARKER, PERMANENT, 24 COLOR SET, Fine Point; Sanford SHARPIE.Sharpie 75846	205620-PYRAMID SCHOOL PRODUCTS	EACH	\$13.29	56	\$744.24
13300677	MARKER, PERMANENT, 12 COLOR SET, Ultra-Fine Point, Sanford SHARPIE.Sharpie 37175PP	205620-PYRAMID SCHOOL PRODUCTS	SET	\$6.95	31	\$215.45
13300680	Marker, Permanent, SHARPIE MAGNUM Black.44001	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	EACH	\$2.10	2	\$4.20
13300690	MARKER, Watercolor set, 12 color Quick drying, vivid colors, non-toxic. SCENTED; Mr. Sketch.Mr Sketch1905069	205620-PYRAMID SCHOOL PRODUCTS	SET	\$4.39	64	\$280.96
13300720	Marker, Permanent, Sharpie Oil Based Paint Marker, White1667998 SHARPIE	8055-STAPLES INC	EACH	\$1.86	5	\$9.30
13300730	Markers, Washable, Multicultural, Set of 8 with skin tones representing the cultures sof the world. Crayola - 08278Crayola #58-7801	205620-PYRAMID SCHOOL PRODUCTS	SET	\$4.49	10	\$44.90
13300740	Marker, Pentouch - Opaque, White, Fine Point, 1mm, Pen-touch.227628	7980-SCHOOL SPECIALTY LLC	EACH	\$1.80	2	\$3.60
13300741	Marker, Pentouch-Opaque, White Extra Fine Point, .7mm, Pen-touch.21326-1001	4305-BLICK ART MATERIALS LLC	EACH	\$2.27	5	\$11.35
13300743	Marker, Pentouch-Opaque, Metallic, Gold Fine Point, 1mm, Pen-touch.459023	7980-SCHOOL SPECIALTY LLC	EACH	\$1.80	2	\$3.60
13300746	Marker, Pentouch-Opaque, Metallic, Silver Fine Point, 1mm, Pen-touch.128594	5718-CASCADE SCHOOL SUPPLIES INC	EACH	\$1.80	2	\$3.60
13300750	MARKER, Watercolor Set, Cone tip, 08 CLASSIC Color Set of 8 - 5 " markers/assorted colors; special cone shape of nib permits both fine & broad lines; non-toxic; odorless; Crayola 770858-7708	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	SET	\$1.50	66	\$99.00

<u>Code</u> 13300760	<u>Description</u>	Vendor	<u>Unit of</u>	Awarded	Otv	Extended
13300760		Vendor	Measure	<u>Price</u>	<u>Qty</u>	<u>Price</u>
	Marker, Bold Colors, Crayola Conical Tip, 8 color set; CRAYOLA.58-7732	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	SET	\$1.50	73	\$109.50
13300770	Marker, Watercolor, 6 color set; Fluorescent, Crayola broad line, No Sub. Crayola - 77487748	INC	SET	\$1.60	61	\$97.60
	Markers, Tropical Colors, Crayola Broad Tip Marker Set; 8 count tropical color set; Colors: blue lagoon, coral reef, dolphin gray, sandy tan,flamingo pink, seafoam green, tropical violet & wild orchid58-7816	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	SET	\$2.08	42	\$87.36
	MARKERS: BIC Brand; 36 Assorted Color Permanent Marker Collection; Fine Point.BICGXPMP361ASST	930-W. B. MASON CO., INC	SET	\$18.49	32	\$591.68
13300792	MARKERS: BIC Brand; 36 Assorted Color Permanent Marker Collection; Ultra Fine Point.1329748	7980-SCHOOL SPECIALTY LLC	SET	\$20.40	6	\$122.40
13300793	MARKERS: DecoColor- Paint Marker Sets - Primary Colors; Fine Point.21337-0069	4305-BLICK ART MATERIALS LLC	SET	\$12.39	9	\$111.51
13300794	MARKERS SET - Decocolor Paint Markers, Pastel Colors, Fine Tip, set of 621337-3069	4305-BLICK ART MATERIALS LLC	SET	\$12.39	3	\$37.17
13300795	MARKERS SET - Decocolor Paint Markers, Hot Colors, Fine Tip, set of 621337-5069	4305-BLICK ART MATERIALS LLC	SET	\$12.39	9	\$111.51
13300796	MARKERS SET - Decocolor Paint Markers, Metallic Colors, Fine Tip, set of 321337-1039	4305-BLICK ART MATERIALS LLC	SET	\$6.22	3	\$18.66
13300802	MARKER SET, SHARPIE, METALLIC MARKER, SILVER, CLASS SET OF 3639100-36	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	SET	\$32.88	2	\$65.76
	MIRROR; Self-Portrait, Double-Sided; Dick Blick 22810-8511; 8-1/2 Inch x 11 Inch Acrylic.22810-8511	4305-BLICK ART MATERIALS LLC	EACH	\$14.83	2	\$29.66
	PASTEL, CHALK SET, 24 COLORS Harder, cleaner pastel w/varnished surface; NUPASTEL.140352	5718-CASCADE SCHOOL SUPPLIES INC	SET	\$16.69	4	\$66.76
	PASTEL, CHALK SET, 36 COLORS Harder, cleaner pastel w/varnished surface; NUPASTEL.NuPastel 27050	205620-PYRAMID SCHOOL PRODUCTS	SET	\$23.29	2	\$46.58
13300860	Marker Set, Crayola GelFX, 8 color set, No Sub. Crayola - CRAYOLA;58-8163	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	SET	\$2.88	12	\$34.56
	PASTEL, OIL CRAYON SET, 12 COLORS Fine quality oil crayons, 2 1/2" x 1/2"; removable holder; Prang SKETCHO.135832	5718-CASCADE SCHOOL SUPPLIES INC	SET	\$4.19	4	\$16.76
13300920	Paster, Oil, Crayola oil pastels; 28 colors; No Sub. Crayola -Crayola 52-4628	205620-PYRAMID SCHOOL PRODUCTS	SET	\$2.44	12	\$29.28
13300921	OIL PASTELS NEON - SET OF 1243522	172200-KURTZ BROTHERS	SET	\$3.89	14	\$54.46
	SAKURA CRAY-PAS EXPRESSIONIST OIL PASTEL SETS - SET OF 36244113	7980-SCHOOL SPECIALTY LLC	SET	\$12.70	20	\$254.00
13300923	SAKURA CRAY-PAS EXPRESSIONIST OIL PASTEL SETS - SET OF 50244116	7980-SCHOOL SPECIALTY LLC	SET	\$17.60	2	\$35.20
	PASTEL, OIL, BLACK 12/box, standard size; Craypas Jr Artist - 9715202A.405702	7980-SCHOOL SPECIALTY LLC	BOX	\$1.80	2	\$3.60
	PASTEL, OIL, WHITE 12/box, standard size; Craypas Jr Artist - 9715202B.405701	7980-SCHOOL SPECIALTY LLC	BOX	\$1.80	2	\$3.60
	PEN, Roller, Uni-Ball, Permanent Black,.2mm Micro Waterproof; stainless steel point; Sanford, Faber - 6-0040; Micro Onyx.08422	172200-KURTZ BROTHERS	DOZ	\$5.04	4	\$20.16

Commodity Code	Description	Vendor	<u>Unit of</u> Measure	Awarded Price	Qty	Extended Price
13301040	PEN, ROLLER, Uni-ball, permanent black, 3MM fine Waterproof; stainless steel point; Sanford, Faber - 60143; Fine Onyx.08421	172200-KURTZ BROTHERS	DOZ	\$5.04	8	\$40.32
	UNI-BALL SIGNO UM-153 WHITE GEL PEN20754-1010	4305-BLICK ART MATERIALS LLC	EACH	\$2.64	40	\$105.60
13301045	PEN, Sanford Sharpie Black, Fine Point Pen; .5mm.08485	172200-KURTZ BROTHERS	EACH	\$0.85	4	\$3.40
13301100	PENCIL, CHARCOAL, 4B SOFT, SCHOOL GRADE Highly refined willow charcoal49126	172200-KURTZ BROTHERS	DOZ	\$9.30	2	\$18.60
	PENCIL, CHARCOAL, WHITE Round, natural wood finish, can be used on charcoal drawings or on colored paper; - GENERAL; 55849120	172200-KURTZ BROTHERS	DOZ	\$9.30	9	\$83.70
13301139	CONTE A PARIS PASTEL PENCIL SET - ASSORTED COLORS, SET OF 24, TIN232677	7980-SCHOOL SPECIALTY LLC	SET	\$38.95	4	\$155.80
	PENCIL, COLOR; Koh-I-Noor Woodless Colored Pencil - Assorted Colors, Set of 24- Description:Woodless Colored Pencils, Set of 24Color:Assorted Colors, Set of 24 Light Yellow, Orange, White, Sap Green, Hookers Green, Light Blue, Dark411304	7980-SCHOOL SPECIALTY LLC	SET	\$14.75	6	\$88.50
13301150	PENCIL, COLOR SET, 12 COLORS, SCHOOL GRADE 24 colors in set. Sanford Colorific 732335 - Prang 22240Prang 22240	205620-PYRAMID SCHOOL PRODUCTS	SET	\$2.45	4	\$9.80
13301160	Pencil, color set, 24 colors/set; Prismacolor Thick lead, pure color; Berol Prismacolor.150018	5718-CASCADE SCHOOL SUPPLIES INC	SET	\$19.39	8	\$155.12
13301161	PRISMACOLOR PREMIER COLORED PENCILS - SET OF 48150020	5718-CASCADE SCHOOL SUPPLIES INC	SET	\$37.80	50	\$1,890.00
13301170	PENCILS CRAYOLA COLOR STICKS - WOODLESS. SET OF 1206656	172200-KURTZ BROTHERS	SET	\$5.62	21	\$118.02
13301180	PENCIL, COLOR SET, CRAYOLA, 24 colors in set; Crayola 4024.68-4024	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	SET	\$2.58	118	\$304.44
13301190	PENCIL, Crayola Metallic pencils no subs.Crayola 68-3708	205620-PYRAMID SCHOOL PRODUCTS	SET	\$1.80	34	\$61.20
13301199	CRAYOLA SKINTONE COLORED PENCILS - SET OF 242090275	7980-SCHOOL SPECIALTY LLC	SET	\$3.40	14	\$47.60
13301210	PENCIL, 240-crayola watercolor pencil classpack no subs. Crayola -Crayola 68-8024	205620-PYRAMID SCHOOL PRODUCTS	PACK	\$25.09	9	\$225.81
13301220	Pencil, color/beige; 12/box, thick lead, pure color. Prismacolor Premier 997.PC997	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	BOX	\$9.30	1	\$9.30
13301310	Pencil, color/light gray warm; 12/box, thick lead, pure color. Prismacolor Premier 1052.PC1052	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	BOX	\$9.30	1	\$9.30
	Pencil, color/medium gray warm; 12/box, thick lead, pure color. Prismacolor Premier1054.PC1054	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	BOX	\$9.30	1	\$9.30
13301380	Pencil, color/metallic gold; 12/box thick lead, pure color; Prismacolor Premier 950.PC950	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	BOX	\$9.30	4	\$37.20
	Pencil, color/metallic silver; 12/box thick lead, pure color; Prismacolor Premier 949.Prismcolor 949	205620-PYRAMID SCHOOL PRODUCTS	BOX	\$10.19	4	\$40.76
13301480	Pencil, Color/white; 12/box, thick lead, pure color; Prismacolor Premier 938.PC938	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	ВОХ	\$9.30	13	\$120.90

Commodity	Description	Van dan	Unit of	Awarded	04.	Extended
Code	<u>Description</u>	<u>Vendor</u>	Measure	Price	<u>Qty</u>	Price
13301496	PENCILS, No.2; Real wood; Latex free eraser; PMA Certified Non-Toxic; 12/Pk.12886 DIXON	8055-STAPLES INC	DOZ.	\$1.15	79	\$90.85
	STYLUS, Large Stylus Sticks 5 1/4 " 1/4 diameter 25/pkg. Scrtch Art 1304 - 97203709720370	6156-NASCO EDUCATION LLC	PACK	\$5.00	3	\$15.00
13301580	STYLUS, Scratch-Etch Stylus 12/pkg. Scratch Art ST-e - 4100179203654	7980-SCHOOL SPECIALTY LLC	PACK	\$16.55	2	\$33.10
	POINT, SCRATCHBOARD, CURVED EDGE For use with scratchboard; fits in penholder. Scratch Art - SK; 21240718	172200-KURTZ BROTHERS	DOZ	\$5.24	2	\$10.48
	POINT, SCRATCHBOARD, STRAIGHT EDGE For use with scratchboard; fits in penholder 40719	172200-KURTZ BROTHERS	DOZ	\$5.24	2	\$10.48
13301630	PORTFOLIO, RED ROPE FIBER, 23" x 31" with tie tapes; 2" expansion with handles. STAR T223 -17116	172200-KURTZ BROTHERS	DOZ	\$73.44	1	\$73.44
13301650	RULER, ALUMINUM, 12" X 1" 100% aluminum; non-bending; large, easy-to-read numbers. Johnson Level - 210020755430-1012 BLICK	4305-BLICK ART MATERIALS LLC	EACH	\$1.91	23	\$43.93
	RULER, ALUMINUM, 18" X 1 1/8" 100% aluminum; non-bending; large, easy-to-read numbers Johnson Level - 210020855430-1018	4305-BLICK ART MATERIALS LLC	EACH	\$2.07	32	\$66.24
13301693	SKETCHBOOKS, 8 1/2 X 11; Nasco Hardbound Sketchbooks - Bulk Pack of 30.9726940	6156-NASCO EDUCATION LLC	PACK	\$313.36	4	\$1,253.44
	TORTILLON STUMPS, LARGE Soft, rolled tan paper for shading and blending; RICHESON.22942-1012	4305-BLICK ART MATERIALS LLC	DOZ	\$0.81	16	\$12.96
	TORTILLON STUMPS, MEDIUM Soft, rolled tan paper for shading and blending RICHESON; 71030222942-1112	4305-BLICK ART MATERIALS LLC	DOZ	\$0.74	7	\$5.18
	TORTILLON STUMPS, SMALL Soft, rolled tan paper for shading and blending; RICHESON22942-1212	4305-BLICK ART MATERIALS LLC	DOZ	\$0.67	7	\$4.69
13301760	MARKER, Permanent, White, Bullet Point85018 SHARPIE	8055-STAPLES INC	EACH	\$3.30	2	\$6.60
13301804	MARKER SET, SHARPIE, METALLIC MARKER, GOLD, CLASS SET OF 3626206	5718-CASCADE SCHOOL SUPPLIES INC	EACH	\$36.84	1	\$36.84
13301877	Paint Marker, Luquitex Professional, Vibrant colors, set of 6.1540280	7980-SCHOOL SPECIALTY LLC	SET	\$20.95	1	\$20.95
	Paint Markers, Liquitex professional, Primary colors, Set of 6, Fine tip, This set includes 6 markers with a 2 millimeter nib.1485666	7980-SCHOOL SPECIALTY LLC	SET	\$20.95	2	\$41.90
	Paint Markers, Liquitex Professional, Fluorescent, sets of 6, these sets include 1 each of Fluorescent colors.1496024	7980-SCHOOL SPECIALTY LLC	SET	\$20.95	4	\$83.80
13400090	Burlap, Natural Bengal -41526	172200-KURTZ BROTHERS	YARD	\$2.25	1	\$2.25
	EMBROIDERY HOOP; Wooden Embroidery hoop- 6" Wooden Embroidery hoop base . Holds project securely for ease of use and storing works in progress/Ideal for needlepoint, cross stitch, and embroidery. School Specialty64805-1006	4305-BLICK ART MATERIALS LLC	EACH	\$1.93	37	\$71.41
	FABRIC SHEETS, Smart-Fab Fabric Sheets, Pack of 45, Item #62130-1006, Assorted Colors, 12 inches x 18 inches.1430810	7980-SCHOOL SPECIALTY LLC	PACK	\$8.95	6	\$53.70
	FELTCraft 100 Felt Assortment 100 9" x12" sheets in 21 colors no subs. United FEL-ASSTB - 25548; Consumer Prod9719066;NewImage	6156-NASCO EDUCATION LLC	PACK	\$27.76	4	\$111.04

Commodity	Description	Vendor	Unit of	<u>Awarded</u>	Qty	Extended
<u>Code</u>	Description	<u>Veridor</u>	<u>Measure</u>	<u>Price</u>	<u>Qιy</u>	<u>Price</u>
13400450	Muslin, unbleached; 38 - 972118541546 EA 1190	172200-KURTZ BROTHERS	YARD	\$2.50	30	\$75.00
13400470	Needle, #18 Tapestry, Blunt, Large Eye, Steel Point; 25/pk 42390184204	5718-CASCADE SCHOOL SUPPLIES INC	PACK	\$1.99	7	\$13.93
13400520	Twine, Jute, Natural. 3 ply. 219 feet2020304	7980-SCHOOL SPECIALTY LLC	EACH	\$2.15	7	\$15.05
	Doubleweight yarn in dispenser box; 16 cone assortment: red, yellow, blue, green, orange, purple, brown, black, white, beige, pink, grass green, sky blue, royal blue, lavendar, gray; 8 oz454664	7980-SCHOOL SPECIALTY LLC	вох	\$62.40	3	\$187.20
13400550	Yarn, Soft, Cape Cod Blue, Caron, 100% acrylic. One pound65230-5910	4305-BLICK ART MATERIALS LLC	EACH	\$8.89	4	\$35.56
13400560	Yarn, Soft, Pale Green, Caron, 100% acrylic. One pound65230-7020	4305-BLICK ART MATERIALS LLC	EACH	\$8.89	3	\$26.67
13400570	Yarn, Soft, Claret (Red), Caron, 100% acrylic. On pound65230-3120	4305-BLICK ART MATERIALS LLC	EACH	\$8.89	2	\$17.78
13400600	Yarn, Soft, Lilac, Caron, 100% acrylic. One pound65230-6030	4305-BLICK ART MATERIALS LLC	EACH	\$8.89	3	\$26.67
13400630	Yarn, Soft, Deep Violet, Caron,100% acrylic. One pound65230-6610	4305-BLICK ART MATERIALS LLC	EACH	\$8.89	2	\$17.78
13400640	Yarn, Soft, Royalty (Dark Blue), Caron, 100% acrylic. One pound65230-1600	4305-BLICK ART MATERIALS LLC	EACH	\$8.89	2	\$17.78
13400650	Yarn, Soft, Kelly Green, Caron, 100% acrylic. One pound65230-7360	4305-BLICK ART MATERIALS LLC	EACH	\$8.89	2	\$17.78
13400680	Yarn, Soft, Soft Pink, Caron, 100% acrylic. One pound65230-3510	4305-BLICK ART MATERIALS LLC	EACH	\$8.89	3	\$26.67
13400750	Yarn, Soft, Pale Green, Caron, 100% acrylic. One pound65230-7020	4305-BLICK ART MATERIALS LLC	EACH	\$8.89	2	\$17.78
13400770	Yarn, Soft, White, Caron, 100% acrylic. One pound65230-1000	4305-BLICK ART MATERIALS LLC	EACH	\$8.89	1	\$8.89
	ADHESIVE, SPRAY, NLT 11 OZ. Bonds lightweight materials; repositionable; non-yellowing Elmers E451 - ELMERS; E45128533	5718-CASCADE SCHOOL SUPPLIES INC	EACH	\$4.03	6	\$24.18
13450030	CEMENT, DUCO (DUPONT) 1 oz. tube; clear, flexible, waterproof - 090087118033 6243	172200-KURTZ BROTHERS	EACH	\$2.21	1	\$2.21
13450040	Glue Gun, Full Size Lo-Temp Glue Gun. F.P.C. CORP L-270 - 70540450518197	172200-KURTZ BROTHERS	EACH	\$6.27	18	\$112.86
13450050	Glue Sticks, Dual-TempRegular size Glue Sticks 4 25/ pkg. FPC Corp; DT-20 - 7054148269708336 PK/20	6156-NASCO EDUCATION LLC	PACK	\$3.28	53	\$173.84
13450051	ELMER'S EXTRA STRENGTH GLUE STICK, 0.28 OUNCE, WHITE, PACK OF 24982056	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$7.10	29	\$205.90
13450060	GLUE STICK, .74 OZ Non-toxic , CLEAR rub-on; permanent but allows time for repositioning; transparent; flexible; does not wrinkle paper. UHU BRAND.99649	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	EACH	\$1.03	156	\$160.68
	GLUE STICK, 1.4 OZ Non-toxic, CLEAR rub-on; permanent but allows time for repositioning; transparent; flexible; does not wrinkle paper. UHU BRANDSAU 99655	930-W. B. MASON CO., INC	EACH	\$1.60	395	\$632.00
	GLUE STICKS FOR ELECTRIC GLUE GUNS 4" length; 1/2" diameter; 30/pack 9716046; Multi Temp1597451	7980-SCHOOL SPECIALTY LLC	PACK	\$3.75	36	\$135.00
	GLUE; Black Glue, 8 ounce bottle. Blick Essentials Black Glue is a strong, versatile black glue that's ideal for outlines and color contrast as well as faux stained glass and paint resist projects. The non-toxic glue bonds to most23978-2025	4305-BLICK ART MATERIALS LLC	BTL	\$3.74	18	\$67.32

Commodity	December 1 and 1 a	Van dan	Unit of	Awarded	01	Extended
Code	<u>Description</u>	<u>Vendor</u>	Measure	Price	<u>Qty</u>	Price
13450090	GLUE, EPOXY, QUICK SET Great strength; 085 ounces - GORILLA23632-1025	4305-BLICK ART MATERIALS LLC	EACH	\$5.58	2	\$11.16
13450100	Glue, Tacky; 8 oz 9702900; Aleenes443021	7980-SCHOOL SPECIALTY LLC	EACH	\$2.85	51	\$145.35
13450110	GLUE, White School, Bottle, 08 oz. All purpose, quick setting, clear drying, washable; ELMER'S School 308.Elmers E308	205620-PYRAMID SCHOOL PRODUCTS	EACH	\$1.29	172	\$221.88
13450120	GLUE, White School, Jug, Gallon All purpose, quick setting, clear drying, washable; Elmer's School E-340.EPI E340	930-W. B. MASON CO., INC	GAL	\$11.71	10	\$117.10
13450130	GLUE, WHITE Glue-ALL, Bottle, 7-5/8 oz.; All purpose, quick setting, clear drying; Elmer's Glue-All - 379.120673	5718-CASCADE SCHOOL SUPPLIES INC	EACH	\$1.76	4	\$7.04
13450148	GLUE; 128 oz. Gallon CLEAR; Elmer's Washable Clear School Glue. Applies and dries clear. Washes out easily with soap and water even after it dries. Non-toxic formula is safe for small children to use. Elmer'sEPIE340	930-W. B. MASON CO., INC	GAL	\$11.71	8	\$93.68
13450160	GLUE, Super; 2 gm. tube; Not for student use Elmers E615.571605	8551-ODP BUSINESS SOLUTIONS LLC	EACH	\$2.99	5	\$14.95
13450180	GLUE, Krazy; .07 oz. tube; Not for student use KRAZY GLUE; K65851366813	7980-SCHOOL SPECIALTY LLC	EACH	\$1.40	6	\$8.40
13450190	TAPE, Masking, Width .1/2" Best quality; 3" core x 60 yards; 3-M, SERIES 234.23412 SCOTCH	8055-STAPLES INC	EACH	\$5.01	28	\$140.28
13450200	TAPE, MASKING, WIDTH .3/4" Best quality; 3" core x 60 yards; ; 3-M, SERIES 234.042105	7980-SCHOOL SPECIALTY LLC	EACH	\$6.25	32	\$200.00
13450210	TAPE, MASKING, WIDTH 1.0" Best quality; 3" core x 60 yards; 3-M, SERIES 234 - 234.MMM234-1	187472-NATIONAL ART & SCHOOL SUPPLIES, INC	EACH	\$9.30	35	\$325.50
13450220	TAPE, MASKING, WIDTH 2.0" Best quality; 3" core x 60 yards; 3-M, SERIES 234.042114	7980-SCHOOL SPECIALTY LLC	EACH	\$7.75	14	\$108.50
13450230	TAPE, Duct, 1.88 inches x 55 Yards; 50 yards, SHURTAPE.Shurtape 105449	205620-PYRAMID SCHOOL PRODUCTS	EACH	\$3.99	5	\$19.95
13450240	COLORED MASKING TAPE: KRAFT; 3 inch Core, 1x60 yards, Color: BLACK.12160	172200-KURTZ BROTHERS	ROLL	\$3.40	6	\$20.40
13450250	COLORED MASKING TAPE: KRAFT; 3 inch Core, 1x60 yards, Color: RED.12161	172200-KURTZ BROTHERS	ROLL	\$3.40	6	\$20.40
13450260	COLORED MASKING TAPE: KRAFT; 3 inch Core, 1x60 yards, Color: BLUE.12162	172200-KURTZ BROTHERS	ROLL	\$3.40	5	\$17.00
13450270	COLORED MASKING TAPE: KRAFT; 3 inch Core, 1x60 yards, Color: GREEN.12163	172200-KURTZ BROTHERS	ROLL	\$3.40	5	\$17.00
13450280	COLORED MASKING TAPE: KRAFT; 3 inch Core, 1x60 yards, Color: ORANGE.12164	172200-KURTZ BROTHERS	ROLL	\$3.40	5	\$17.00
13450318	TAPE; PAINTERS; 1 INCH.; Blick Painter's Tape.22198	5718-CASCADE SCHOOL SUPPLIES INC	ROLL	\$3.85	24	\$92.40
13500670	Charcoal Soldering Block, 3.25" x 2.25" MRB Co54.152	156950-T. B. HAGSTOZ & SON	EACH	\$10.10	1	\$10.10
13500940	COMBINATION ANVIL AND BENCH PIN Fits work surface up to 2" thick; pin measures 1 3/4" x 4" longBPN-122.00	156950-T. B. HAGSTOZ & SON	EACH	\$16.95	5	\$84.75
13500970	Drill Bits, Twist Drill, 1/08", size 30 -DRL-227.30	156950-T. B. HAGSTOZ & SON	DOZ	\$28.20	4	\$112.80
13500980	Drill Bits, Twist Drill, 1/32", size 65 -DRL-28.65	156950-T. B. HAGSTOZ & SON	DOZ	\$9.00	4	\$36.00
13501050	EMERY PAPER, 220 GRIT (VERY FINE), 9" X 11" Silicone carbine abrasive bonded to paper backing; wet or dry use. Norton - 3M;705432731; Pack of 501471439 3M	7980-SCHOOL SPECIALTY LLC	PACK	\$54.30	1	\$54.30

Commodity	<u>Description</u>	<u>Vendor</u>	Unit of	Awarded	04	Extended
Code			Measure	Price	<u>Qty</u>	Price
	EMERY PAPER, 320 GRIT (EXTRA FINE), 9" X 11" Silicone carbine abrasive bonded to paper backing; wet or dry use. Norton - 3M;705432734; Pack of 50.1471440 3M	7980-SCHOOL SPECIALTY LLC	PACK	\$54.30	1	\$54.30
	EMERY PAPER, 400 GRIT (SUPER FINE), 9" X 11" Silicone carbinde abrasive bonded to paper backing; wet or dry use. Norton - 3M. Package of 50.1471441 3M	7980-SCHOOL SPECIALTY LLC	PKG	\$54.30	1	\$54.30
	EMERY PAPER, 600 GRIT (FINEST), 9" X 11" Silicone carbine abrasive bonded to paper backing; wet or dry use Norton - 3M; 705432740; pack of 50.1471442 3M	7980-SCHOOL SPECIALTY LLC	PACK	\$54.30	1	\$54.30
	FILE, HAND, FLAT OR HAND, 6" LENGTH, 2 CUT Parallel in width, slightly tapered in thickness MERCER TL;70545174231.146	156950-T. B. HAGSTOZ & SON	EACH	\$26.70	6	\$160.20
	FILE, HAND, HALF ROUND, 6" LENGTH, 4 CUT Tapered in width and thickness; comes to point -31.116	156950-T. B. HAGSTOZ & SON	EACH	\$46.95	4	\$187.80
	FLUX, LIQUID, HARD SOLDERING, SELF PICKLING Fluoride based (yellow or green); plastic bottle. Lucas - Mil -54.408	156950-T. B. HAGSTOZ & SON	QRT	\$22.30	1	\$22.30
	FOIL, Tooling, aluminum 36 gauge; 12" width; 10 ft rolls. St.Louis Crafts MA10 - 3901539015		EACH	\$4.68	8	\$37.44
13501240	FOIL, Tooling, Cooper 36 gauge; 12" width, 10 ft rolls 0401500B39016 CA10	172200-KURTZ BROTHERS	EACH	\$29.59	3	\$88.77
	HANDY FLUX; HANDY FLUX FOR SOLDERING AND ANNEALING PASTE, 8 OZ.54.442	156950-T. B. HAGSTOZ & SON	EACH	\$11.95	5	\$59.75
13501370	Metal Sheet, Brass, 20 gauge, 12" x 12"BSSH201212	156950-T. B. HAGSTOZ & SON	EACH	\$33.40	8	\$267.20
13501400	Metal Sheet, Copper, 20 gauge, 12" x 12"CUSH201212	156950-T. B. HAGSTOZ & SON	EACH	\$30.01	8	\$240.08
13501410	Metal sheet, copper, 24 gauge, 12" x 12"CUSH241212	156950-T. B. HAGSTOZ & SON	EACH	\$19.85	2	\$39.70
13501430	Metal sheet, nickel (silver), 20 gauge, 12" x 12" 9718680NSSH201212	156950-T. B. HAGSTOZ & SON	EACH	\$54.75	15	\$821.25
13501460	Metal sheet, nu-gold, 20 gauge, 12" x 12"BZSH201212	156950-T. B. HAGSTOZ & SON	EACH	\$38.51	3	\$115.53
13501600	PAPER; 3M FLEXIBLE POLISHING PAPER, SET OF ALL 6 GRITS, 400 TO 8000 GRIT.10.274-79	156950-T. B. HAGSTOZ & SON	PKG	\$13.50	5	\$67.50
13501660	PROPANE TANK, BERNZOMATIC Fuel for hand-held propane torch14.223	156950-T. B. HAGSTOZ & SON	EACH	\$12.50	9	\$112.50
	PUNCH, TWO-HOLE METAL Two hardened steel punches cut 3/32" or 1/16" holes PUN.400.00	156950-T. B. HAGSTOZ & SON	EACH	\$16.00	7	\$112.00
	SAWBLADES, JEWELERS, 0, 5 1/4" Special alloy steel, hardened and tempered. Teeth uniform in size, shape and sharpness; NO SUB W/O SAMPLE. ANTILOPE, VIGOR, HERCULES -SAW.300.06	156950-T. B. HAGSTOZ & SON	DOZ	\$3.25	100	\$325.00
13501820	SAWBLADES, JEWELERS, 1, 5 1/4" Special alloy steel, hardened and tempered. Teeth uniform in size, shape and sharpness. NO SUB W/O SAMPLE. ANTILOPE, VIGOR, HERCULES.SAW.300.07	156950-T. B. HAGSTOZ & SON	DOZ	\$3.25	50	\$162.50
	SAWFRAME, JEWELERS', 6" DEPTH, TENSION ADJUSTABLE Serrated clamps hold blade firmly; adjustable; flat, steel frames, hardwood handles and thumbscrew locking devices.NO SUB W/O SAMPLE. SAXON, VIGOR -49.706	156950-T. B. HAGSTOZ & SON	EACH	\$28.00	4	\$112.00
13502014	SILVER SHEET SOLDER, EASY; 2 FEET X 6 INCHES.SS405 10ZT SHEET	156950-T. B. HAGSTOZ & SON	EACH	\$35.00	1	\$35.00

Commodity Code	<u>Description</u>	<u>Vendor</u>	<u>Unit of</u> <u>Measure</u>	Awarded Price	<u>Qty</u>	Extended Price
13502015	SILVER SHEET SOLDER, MEDIUM; 2 FEET X 6 INCHES.SS305 10ZT SHEET	156950-T. B. HAGSTOZ & SON	EACH	\$36.00	1	\$36.00
13502016	SILVER SHEET SOLDER, HARD 2 FEET X 6 INCHES.SS105 10ZT SHEET	156950-T. B. HAGSTOZ & SON	EACH	\$37.00	1	\$37.00
13502210	TRIPOLI, 1 LB For abrasive action47.480	156950-T. B. HAGSTOZ & SON	EACH	\$6.00	1	\$6.00
13600021	BRUSH: Blick Scholastic Red Sable, Round, Size 105948-1001	4305-BLICK ART MATERIALS LLC	EACH	\$1.09	5	\$5.45
13600022	BRUSH: Blick Scholastic Red Sable, Round, Size 205948-1002	4305-BLICK ART MATERIALS LLC	EACH	\$1.09	5	\$5.45
13600030	BRUSH; Blick Academic Bristle Long Handle 6 Brush Set Sizes 2,4,6,8,12, & 16 Round; NO SUB; BO5919-0069.05919-0069	4305-BLICK ART MATERIALS LLC	SET	\$20.20	10	\$202.00
13600031	BRUSH, Blick Academic Bristle Long Handle 6 Brush Set Sizes 2,4,6,8,12, & 16 FLAT; NO SUB; BO5920-0069.05920-0069	4305-BLICK ART MATERIALS LLC	SET	\$17.37	10	\$173.70
13600040	BRUSH SET, Acrylic, White Bristle Brights, 6/SET Sizes #0, #1, #2, #4, #6, #8. D.Blick - a/s 05377-006905377-0069	4305-BLICK ART MATERIALS LLC	SET	\$6.67	16	\$106.72
13600050	BRUSH SET, WATERCOLOR, GOLDEN TAKLON, 6 PER SET Sizes #0, #1, #2, #4, #6 and #8; BO5385-006905385-0069	4305-BLICK ART MATERIALS LLC	SET	\$7.08	21	\$148.68
13600052	BRUSHES; BLICK SCHOLASTIC, SCHOLASTIC GOLDEN TAKLON, ROUND BRUSH, SIZE 2, SHORT HANDLE, ITEM #05858-1002.05858-1002	4305-BLICK ART MATERIALS LLC	EACH	\$0.96	36	\$34.56
13600053	BRUSHES; BLICK SCHOLASTIC, SCHOLASTIC GOLDEN TAKLON, ROUND BRUSH, SIZE 4 SHORT HANDLE; ITEM # 05858-1004.05858-1004	4305-BLICK ART MATERIALS LLC	EACH	\$1.05	36	\$37.80
13600055	BRUSHES, BLICK SCHOLASTIC, SCHOLASTIC GOLDEN TAKLON ROUND BRUSH, SIZE 10, SHORT HANDLE ITEM #05858-1010.05858-1010	4305-BLICK ART MATERIALS LLC	EACH	\$1.73	36	\$62.28
13600057	BRUSH; TAKLON; LONG HANDLE; Soft Grip Golden Taklon Brush, long Handle, Set of 72 Flats and Rounds.2024081	7980-SCHOOL SPECIALTY LLC	SET	\$23.96	1	\$23.96
13600060	BRUSHES: Royal Big Kids Choice-72 pack soft grip brushes: Round.06031-1729	4305-BLICK ART MATERIALS LLC	PACK	\$66.91	9	\$602.19
13600061	BRUSHES: Royal Big Kids Choice-72 pack soft grip brushes: Specialty.06031-2729	4305-BLICK ART MATERIALS LLC	PACK	\$66.91	2	\$133.82
13600062	BRUSH: Blick; Scholastic: Wonder White, Size 1: B05857-1001.05857-1001	4305-BLICK ART MATERIALS LLC	EACH	\$1.05	5	\$5.25
13600071	BRUSH, BLICK SCHOLASTIC WHITE HOG BRISTLE SET, SET OF 6, BRUSHES WITH LONG HANDLES, USED FOR OILS, ACRYLICS, AND ALKYDS.05955-0069 ASSRT	4305-BLICK ART MATERIALS LLC	SET	\$17.08	5	\$85.40
13600250	BRUSH, Utility/Varnish, 1.0" Pure bristle brush, single thick w/plastic or wooden handle.224295	7980-SCHOOL SPECIALTY LLC	EACH	\$0.45	20	\$9.00
13600260	BRUSH, UTILITY/VARNISH, 1.5" (1 1/2") Pure bristle brush, single thick w/plastic or wooden handle SAX;705443330443330 JACK	7980-SCHOOL SPECIALTY LLC	EACH	\$0.60	20	\$12.00
13600270	BRUSH, UTILITY/VARNISH, 2.0" Pure bristle brush, single thick w/plastic or wooden handle SAX;705224298224298 JACK	7980-SCHOOL SPECIALTY LLC	EACH	\$0.75	29	\$21.75
13600490	BRUSH, WATERCOLOR, CAMEL HAIR ROUND, SCHOOL-GRADE 02 Good quality, full-bodied, moderate price; round head s point well, carry full color load; seamless nickel-plated ferrules on standard length hardwood handles. NO SUB W/O SAMPLE143146 CASCADE	5718-CASCADE SCHOOL SUPPLIES INC	DOZ	\$2.48	8	\$19.84

Commodity	Description	Vandor	Unit of	Awarded	Qty	Extended
<u>Code</u>	<u>Description</u>	Vendor	<u>Measure</u>	<u>Price</u>	<u>Qty</u>	<u>Price</u>
	BRUSH, WATERCOLOR, CAMEL HAIR ROUND, SCHOOL-GRADE 04 Good quality, full-bodied, moderate price; round head s point well, carry full color load; seamless nickel-plated ferrules on standard length hardwood handles. NO SUB W/O SAMPLE143148 CASCADE	5718-CASCADE SCHOOL SUPPLIES INC	DOZ	\$2.81	4	\$11.24
	BRUSH, WATERCOLOR, CAMEL HAIR ROUND, SCHOOL-GRADE 05 Good quality, full-bodied, moderate price; round head s point well, carry full color load; seamless nickel-plated ferrules on standard length hardwood handles. NO SUB W/O SAMPLE143149 CASCADE	5718-CASCADE SCHOOL SUPPLIES INC	DOZ	\$2.81	4	\$11.24
	BRUSH, WATERCOLOR, CAMEL HAIR ROUND, SCHOOL-GRADE 06 Good quality, full-bodied, moderate price; round head s point well, carry full color load; seamless nickel-plated ferrules on standard length hardwood handles. NO SUB W/O SAMPLE143150 CASCADE	5718-CASCADE SCHOOL SUPPLIES INC	DOZ	\$2.97	1	\$2.97
	BRUSH, WATERCOLOR, CAMEL HAIR ROUND, SCHOOL-GRADE 08 Good quality, full-bodied, moderate price; round head s point well, carry full color load; seamless nickel-plated ferrules on standard length hardwood handles. NO SUB W/O SAMPLE143152 CASCADE	5718-CASCADE SCHOOL SUPPLIES INC	DOZ	\$3.30	1	\$3.30
	BRUSH, Watercolor, camel hair round, school-grade 12 Good quality, full-bodied, moderate price; round head s point well, carry full color load; seamless nickel-plated ferrules on standard length hardwood handles. NO SUB W/O SAMPLE1567560	7980-SCHOOL SPECIALTY LLC	DOZ	\$3.30	4	\$13.20
13600670	Cleaner, Gojo waterless orange cleaner, Gallon jug, Smooth.095504 GOJO	8055-STAPLES INC	EACH	\$19.09	5	\$95.45
13600700	CUP LIDS, UTILITY, SEALABLE, LARGE (5.5 OZ.); Pkg of 125; lightweight; sturdy, clear plastic; airtight;.SOLO Brand.9704933 NASCO	6156-NASCO EDUCATION LLC	PACK	\$4.77	13	\$62.01
	CUP LIDS, UTILITY, SEALABLE, MEDIUM (3.25 OZ.); Pkg of 125; lightweight; sturdy, clear plastic; airtight; SOLO Brand.9704933 NASCO	6156-NASCO EDUCATION LLC	PACK	\$4.77	7	\$33.39
	CUP LIDS, UTILITY, SEALABLE, SMALL (1 OZ.); Pkg of 125; lightweight; sturdy, clear plastic; airtight; SOLO.9727071 NASCO	6156-NASCO EDUCATION LLC	PACK	\$2.88	7	\$20.16
	CUPS, UTILITY, SEALABLE, LARGE (5.5 OZ.); Pkg of 250; lightweight; sturdy, clear plastic; airtight; SOLO Brand.9721204 NASCO	6156-NASCO EDUCATION LLC	PACK	\$14.25	8	\$114.00
	CUPS, UTILITY, SEALABLE, MEDIUM (3.25 OZ.); Pkg of 250; lightweight; sturdy, clear plastic; airtight; SOLO Brand.9721203 NASCO	6156-NASCO EDUCATION LLC	PACK	\$7.87	6	\$47.22
	CUPS, UTILITY, SEALABLE, SMALL (1 OZ.); Pkg of 250; lightweight; sturdy, clear plastic; airtight; SOLO Brand9704929 NASCO	6156-NASCO EDUCATION LLC	PACK	\$4.35	5	\$21.75
13600790	Facial tissue, 100 2 ply sheets /box 21201MRC293030BX	930-W. B. MASON CO., INC	BOX	\$0.76	49	\$37.24
13600800	Gloves, Latex free Nitrile Gloves Adult size Medium; 100/box; No Sub.24474483 AMMEX	8055-STAPLES INC	BOX	\$5.57	8	\$44.56
13600810	Gloves, Plastic Econo Gloves 100/box medium 910555VMD5201 AMBITEX	8055-STAPLES INC	BOX	\$3.42	3	\$10.26
13600820	Gloves, Plastic Econo Gloves 100/box Large SAX 705 246210 -931415 AMBITEX	8055-STAPLES INC	BOX	\$3.14	3	\$9.42

Commodity			Unit of	Awarded	0.1	Extended
Code	<u>Description</u>	<u>Vendor</u>	Measure	Price	<u>Qty</u>	Price
13600822	MARKERS; DO-A-DOT SPONGE TIP APPLICATOR SET; BRILLIANT 6 PACK OF COLORS.DOD103	930-W. B. MASON CO., INC	PACK	\$9.00	1	\$9.00
	MARKERS; DO-A-DOT SPONGE TIP APPLICATOR SET; RAINBOW 6 PACK OF COLORS.DOD101	930-W. B. MASON CO., INC	PACK	\$9.00	1	\$9.00
	CANVAS PANELS, ECONOMY CANVAS PANELS, BLICK BRAND, 5 INCHES X 7 INCHES, PACKAGE OF 24.07015-1000	4305-BLICK ART MATERIALS LLC	PKG	\$7.08	4	\$28.32
	CANVAS PANEL, ECONOMY CANVAS PANELS, BLICK BRAND, 8 INCHES X 10 INCHES, PACKAGE OF 24.07015-1012	4305-BLICK ART MATERIALS LLC	PKG	\$18.12	4	\$72.48
13600837	BLICK SUPER VALUE CANVAS PACKS 16 X 20, 5/8", 5PK07526-1620	4305-BLICK ART MATERIALS LLC	PACK	\$15.99	9	\$143.91
13600840	Medium (Painting), Gesso; Quart Blick Artist 00623-102700691-1027	4305-BLICK ART MATERIALS LLC	QRT	\$7.95	3	\$23.85
13600850	Medium (Painting), Gloss; Quart Blick Artist 00623-1037.00623-1037	4305-BLICK ART MATERIALS LLC	QRT	\$7.82	2	\$15.64
13600858	Masking Fluid, Winsor and Newton, Water Colour, 75 ML.422176	7980-SCHOOL SPECIALTY LLC	EACH	\$8.90	1	\$8.90
13600860	Medium (Painting), Matte; Quart Blick Artist 00623-1047.00623-1047	4305-BLICK ART MATERIALS LLC	QRT	\$5.74	2	\$11.48
13600870	Medium (Painting), Modeling paste; Quart Blick Artist 0063-1067.00623-1067;Quart	4305-BLICK ART MATERIALS LLC	GAL	\$6.44	2	\$12.88
13600879	JACK RICHESON MULTI COLOR TRAY SET, 15 X 10-1/2 INCHES, ASSORTED COLORS04512-1059	4305-BLICK ART MATERIALS LLC	SET	\$13.52	1	\$13.52
13600880	MIXERS, WATERCOLOR, PLASTIC, 6 WELL TRAY Plastic rectangular tray, 3 5/8" x 5 1/4", 6 well.085855	7980-SCHOOL SPECIALTY LLC	DOZ	\$2.45	34	\$83.30
	PAINT, ACRYLIC LIQUID, MARS BLACK Squeeze plastic bottle; Blickrylic 00711-2046.00711-2046	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	33	\$145.86
13600930	PAINT, ACRYLIC LIQUID, BLUE (COBALT BLUE) Squeeze plastic bottle ; BLICKRYLIC 00711-5186.00711-5186	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	23	\$101.66
13600946	BLICK BAMBOO BRUSH SET OF 3443477	7980-SCHOOL SPECIALTY LLC	SET	\$2.00	3	\$6.00
	PAINT, ACRYLIC LIQUID, ULTRAMARINE BLUE Squeeze plastic bottle - Blickrylic 00711-5236.00711-5236	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	42	\$185.64
	PAINT, ACRYLIC LIQUID, BURNT SIENNA Squeeze plastic bottle Blickrylic 00711-8046.00711-8046	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	5	\$22.10
	PAINT, ACRYLIC LIQUID, BURNT UMBER Squeeze plastic bottle; BLICKRYLIC 00711-8056.00711-8056	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	8	\$35.36
	PAINT, ACRYLIC LIQUID, BURNT UMBER Squeeze plastic bottle; BLICKRYLIC 00711-8056.00711-8056	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	5	\$22.10
	PAINT, ACRYLIC LIQUID, GREEN OXIDE Squeeze Plastic Bottle; BLICKRYLIC 00711-7296.00711-7296	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	9	\$39.78
	PAINT, ACRYLIC LIQUID, GREEN (PHTHALO GREEN) Squeeze plastic bottle; Blickrylic 00711-7066.00711-7066	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	12	\$53.04
13601071	PAINT; Blick Artists' Acrylics Cerulean Blue . 4.65 OZ. Tube.00624-5164	4305-BLICK ART MATERIALS LLC	TUBE	\$12.34	2	\$24.68

Commodity	Description	Van dan	Unit of	Awarded	04	Extended
<u>Code</u>	<u>Description</u>	<u>Vendor</u>	<u>Measure</u>	Price	<u>Qty</u>	<u>Price</u>
13601072	PAINT; Blick Artists' Acrylics Cobolt Blue . 4.65 OZ. Tube.00624-5184	4305-BLICK ART MATERIALS LLC	TUBE	\$12.34	2	\$24.68
13601074	PAINT; Blick Artists' Acrylics Phthalo Blue Green Shade 4.65 OZ. Tube.00624-5754	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601075	PAINT; Blick Artists' Acrylics Phthalocyanine Blue; 4.65 OZ. Tube.00624-5144	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601077	PAINT; Blick Artists' Acrylics Ultramarine Blue; 4.65 OZ. Tube.00624-5234	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601079	PAINT; Blick Artists' Acrylics MARS BLACK; 4.65 OZ. Tube.00624-2044	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601081	PAINT; Blick Artists' Acrylics Hookers Green. 4.65 OZ. Tube.00624-7124	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601082	PAINT; Blick Artists' Acrylics Permanent Green Light. 4.65 OZ. Tube.00624-7084	4305-BLICK ART MATERIALS LLC	TUBE	\$9.31	2	\$18.62
13601083	PAINT; Blick Artists' Acrylics Phthalo Green Yellow Shade. 4.65 OZ. Tube.00624-7564	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601084	PAINT; Blick Artists' Acrylics Phthalocyanine Green. 4.65 OZ. Tube.00624-7064	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601085	PAINT; Blick Artists' Acrylics Sap Green. 4.65 OZ. Tube.00624-7094	4305-BLICK ART MATERIALS LLC	TUBE	\$8.88	2	\$17.76
13601086	PAINT; Blick Artists' Acrylics Turquise Green . 4.65 OZ. Tube.00624-5264	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601087	PAINT; Blick Artists' Acrylics Yellow Green. 4.65 OZ. Tube.00624-4754	4305-BLICK ART MATERIALS LLC	TUBE	\$8.88	2	\$17.76
13601089	PAINT; Blick Artists' Acrylics MEDIUM GREY; 4.65 OZ. Tube.00624-2524	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601090	PAINT; Blick Artists' Acrylics PAYNES GREY; 4.65 OZ. Tube.00624-2564	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601092	PAINT; Blick Artists' Acrylics LIGHT PINK; 4.65 OZ. Tube.00624-3304	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	4	\$28.40
13601094	PAINT; Blick Artists' Acrylics Dioxazine Purple; 4.65 OZ. Tube.00624-6024	4305-BLICK ART MATERIALS LLC	TUBE	\$8.88	2	\$17.76
13601096	PAINT; Blick Artists' Acrylics BURNT SIENNA; 4.65 OZ. Tube.00624-8044	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601097	PAINT; Blick Artists' Acrylics RAW SIENNA; 4.65 OZ. Tube.00624-8064	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601099	PAINT; Blick Artists' Acrylics BURNT UMBER; 4.65 OZ. Tube.00624-8054	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601100	PAINT; Blick Artists' Acrylics RAW UMBER; 4.65 OZ. Tube.00624-8074	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601103	PAINT; Blick Artists' Acrylics Quinacridone Violet; 4.65 OZ. Tube.00624-6514	4305-BLICK ART MATERIALS LLC	TUBE	\$9.31	2	\$18.62
13601105	PAINT; Blick Artists' Acrylics BUFF WHITE; 4.65 OZ. Tube.00624-1174	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	4	\$28.40
13601106	PAINT; Blick Artists' Acrylics TITANIUM WHITE; 4.65 OZ. Tube.00624-1014	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	7	\$49.70
	PAINT, ACRYLIC LIQUID, MAGENTA (MEDIUM MAGENTA) Squeeze plastic bottle ; Blickrylic 00711-3046.00711-3046	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	6	\$26.52
	PAINT, ACRYLIC LIQUID, Orange (Chrome ORANGE) Squeeze plastic bottle; BLICKRYLIC 00711-4666.00711-4666	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	14	\$61.88
	PAINT, ACRYLIC LIQUID, PEARLESCENT MIXING MEDIUM Squeeze plastic bottle. Liqutex129643	5718-CASCADE SCHOOL SUPPLIES INC	PINT	\$17.32	2	\$34.64
13601190	PAINT, ACRYLIC LIQUID, VIOLET Squeeze Plastic Bottle; BLICKRYLIC.00711-6506	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	12	\$53.04

Commodity	<u>Description</u>	Vendor	Unit of	Awarded	Qty	Extended
<u>Code</u>			<u>Measure</u>	<u>Price</u>		<u>Price</u>
	PAINT, ACRYLIC LIQUID, Venetian Red (DEEP RED) Squeeze plastic bottle ; Blickrylic 00711-3136.00711-3136	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	6	\$26.52
	PAINT, ACRYLIC LIQUID, Bright Red OXIDE Squeeze plastic bottle; Blickrylic 00711-3076.00711-3076	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	44	\$194.48
	PAINT, ACRYLIC LIQUID, FIRE RED Squeeze Plastic Bottle; BLICKRYLIC 00711- 3116.00711-3116	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	11	\$48.62
	PAINT, ACRYLIC LIQUID, WHITE (TITANIUM WHITE) Squeeze plastic bottle; Blickrylic 99711-1116.00711-1116	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	48	\$212.16
	PAINT, ACRYLIC LIQUID, Chrome Yellow; Squeeze plastic bottle ; Blickrylic 00711- 4156.00711-4156	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	46	\$203.32
	PAINT, ACRYLIC LIQUID, DEEP YELLOW Squeeze Plastic Bottle; BLICKRYLIC 00711-4326.00711-4326	4305-BLICK ART MATERIALS LLC	PINT	\$4.42	5	\$22.10
13601409	PAINT; Blick Artists' Acrylics Alizarin Crimson Hue. 4.65 OZ. Tube.00624-3444	4305-BLICK ART MATERIALS LLC	TUBE	\$8.88	2	\$17.76
13601433	PAINT; Blick Artists' Acrylics Cadmium Yellow Deep. 4.65 OZ. Tube.00624-4124	4305-BLICK ART MATERIALS LLC	TUBE	\$12.34	2	\$24.68
13601434	PAINT; Blick Artists' Acrylics Cadmium Yellow Light. 4.65 OZ. Tube.00624-4074	4305-BLICK ART MATERIALS LLC	TUBE	\$9.31	2	\$18.62
13601435	PAINT; Blick Artists' Acrylics Cadmium Yellow Medium. 4.65 OZ. Tube.00624-4094	4305-BLICK ART MATERIALS LLC	TUBE	\$9.31	2	\$18.62
13601436	PAINT; Blick Artists' Acrylics Cadmium Yellow Medium Hue. 4.65 OZ. Tube.00624-4194	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601443	PAINT; Blick Artists' Acrylics Cadmium ORANGE. 4.65 OZ. Tube.00624-4534	4305-BLICK ART MATERIALS LLC	TUBE	\$9.31	2	\$18.62
13601445	PAINT; Blick Artists' Acrylics Cadmium ORANGE HUE. 4.65 OZ. Tube.00624-4544	4305-BLICK ART MATERIALS LLC	TUBE	\$8.88	2	\$17.76
13601481	PAINT; Blick Artists' Acrylics Yellow Hansa Light . 4.65 OZ. Tube.00624-4224	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601482	PAINT; Blick Artists' Acrylics Yellow Ochre. 4.65 OZ. Tube.00624-4044	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601483	PAINT; Blick Artists' Acrylics Yellow Oxide. 4.65 OZ. Tube.00624-4114	4305-BLICK ART MATERIALS LLC	TUBE	\$7.10	2	\$14.20
13601625	Paint, Winsor and Newtown, Winton Oil Color, Cadmium Orange Hue, 200 mL tube9706297D	6156-NASCO EDUCATION LLC	TUBE	\$12.16	1	\$12.16
	Paint, Winsor and Newtown, Winton Oil Color, Cadmium Red Deep Hue, 200 mL tube9706297F	6156-NASCO EDUCATION LLC	TUBE	\$12.16	1	\$12.16
13601636	Paint, Winsor and Newtown, Winton Oil Color, Dioxazine Purple, 200 mL tube464531	7980-SCHOOL SPECIALTY LLC	TUBE	\$10.95	1	\$10.95
13601638	Paint, Winsor and Newtown, Winton Oil Color, French Ultramarine, 200 mL tube237903	7980-SCHOOL SPECIALTY LLC	TUBE	\$10.95	3	\$32.85
	Paint, Winsor and Newtown, Winton Oil Color, Permenant Alizarin Crimson, 200 mL tube9706297A	6156-NASCO EDUCATION LLC	TUBE	\$12.16	3	\$36.48
	PAINT; Winsor & Newton Artisan Water Mixable Oil Color, 6.75-oz (200ml), Cerulean Blue Hue.237891	7980-SCHOOL SPECIALTY LLC	TUBE	\$10.95	3	\$32.85
13601675	Paint, Winsor and Newtown, Winton Oil Color, Phthalo Blue, 200 mL tube9706297V	6156-NASCO EDUCATION LLC	TUBE	\$12.16	3	\$36.48

Commodity	Description	Vendor	<u>Unit of</u>	Awarded	Qty	<u>Extended</u>
<u>Code</u>	 	Tonao.	<u>Measure</u>	<u>Price</u>	<u> </u>	<u>Price</u>
13601677	Paint, Winsor and Newtown, Winton Oil Color, Prussian Blue, 200 mL tube9706297W	6156-NASCO EDUCATION LLC	TUBE	\$12.16	3	\$36.48
13601681	Paint, Winsor and Newtown, Winton Oil Color, Sap Green, 200 mL tube237930	7980-SCHOOL SPECIALTY LLC	TUBE	\$10.95	3	\$32.85
13601683	Paint, Winsor and Newtown, Winton Oil Color, Titanium White, 200 mL tube237933	7980-SCHOOL SPECIALTY LLC	TUBE	\$10.95	10	\$109.50
13601859	WINDSOR ARTISAN OIL PAINT 200ML CAD ORG HUE.00462-4545	4305-BLICK ART MATERIALS LLC	TUBE	\$15.13	2	\$30.26
13601863	WINDSOR ARTISAN OIL PAINT 200ML CAD YLW HUE.237888	7980-SCHOOL SPECIALTY LLC	TUBE	\$12.55	2	\$25.10
13601872	WINDSOR ARTISAN OIL PAINT 200ML TITNM WHT.00462-1015	4305-BLICK ART MATERIALS LLC	TUBE	\$15.13	2	\$30.26
13601873	WINDSOR ARTISAN OIL PAINT 200ML OCHR YLW.00462-4045	4305-BLICK ART MATERIALS LLC	TUBE	\$15.13	2	\$30.26
13601901	ARTISAN WATER MIXABLE OIL 200 ML (6.75 OZ) CADMIUM RED HUE0062-3545	4305-BLICK ART MATERIALS LLC	TUBE	\$15.13	3	\$45.39
13601902	ARTISAN WATER MIXABLE OIL 200 ML (6.75 OZ) BURNT UMBER00462-8055	4305-BLICK ART MATERIALS LLC	TUBE	\$15.13	1	\$15.13
13601904	WATER MIXABLE OIL 200 ML (6.75 OZ) MAGENTA00462-3045	4305-BLICK ART MATERIALS LLC	TUBE	\$15.13	1	\$15.13
13601905	ARTISAN WATER MIXABLE OIL 200 ML (6.75 OZ) PERMANENT ALIZARIN CRIMSON00462-3395	4305-BLICK ART MATERIALS LLC	TUBE	\$15.13	1	\$15.13
13601906	ARTISAN WATER MIXABLE OIL 200ML (6.75 OZ) PHTHALO GREEN, BLUE SHADE00462-7185	4305-BLICK ART MATERIALS LLC	TUBE	\$15.13	1	\$15.13
13601907	ARTISAN WATER MIXABLE OIL 200ML (6.75 OZ) RAW UMBER00462-8075	4305-BLICK ART MATERIALS LLC	TUBE	\$15.13	1	\$15.13
13601908	ARTISAN WATER MIXABLE OIL 200ML (6.75 OZ) PHTHALO BLUE, RED SHADE00462-5745	4305-BLICK ART MATERIALS LLC	TUBE	\$15.13	1	\$15.13
13601909	ARTISAN WATER MIXABLE OIL 200ML (6.75) VIRIDIAN00462-7103 37ML	4305-BLICK ART MATERIALS LLC	TUBE	\$10.21	2	\$20.42
13602040	PAINT, SPRAY, ENAMEL, GOLD Quick drying, waterproof, rust resistant; 12 oz. can; KRYLON 1706.52072	172200-KURTZ BROTHERS	EACH	\$7.75	3	\$23.25
13602050	PAINT, SPRAY, ENAMEL, Silver; Quick drying, waterproof, rust resistant; 11 oz. can; KRYLON 1406.52071	172200-KURTZ BROTHERS	EACH	\$7.75	3	\$23.25
13602058	PAINT; Richeson Tempera Cakes- package of 6 florescent colors (SMALL).383786	7980-SCHOOL SPECIALTY LLC	PKG	\$11.45	24	\$274.80
13602059	TEMPERA CAKES with Tray, Jack Richeson; Small; Assorted Fluorescent Matte Colors, Set of 6 - Cakes are 1-11/16 inches in diameter x 5/8 inch thick. Solid, convenient source of brilliant, opaque watercolor Will not deteriorate in s1496095	7980-SCHOOL SPECIALTY LLC	SET	\$10.15	39	\$395.85
13602060	PAINT, TEMPERA CAKE, BIGGIE SET Semi-moist cakes of highly concentrated pigment; spillproof; cakes 2" x 2" x 1/2". 8 assorted Biggie cakes in plastic tray.140299	5718-CASCADE SCHOOL SUPPLIES INC	SET	\$16.16	3	\$48.48
13602061	PAINT; Richeson Tempera Cakes- set of 9 with tray.00073-1029	4305-BLICK ART MATERIALS LLC	SET	\$8.80	24	\$211.20
13602068	PAINT; Richeson Large Tempera Cake Refills, Assorted Colors, Set of 9.00073-1049	4305-BLICK ART MATERIALS LLC	SET	\$7.16	12	\$85.92

Commodity	Description	Vendor	Unit of	<u>Awarded</u>	Qty	Extended
<u>Code</u>			<u>Measure</u>	<u>Price</u>	<u> </u>	<u>Price</u>
	PAINT, Tempera, fluorescent, Blue Liquid Plastic containers only; Blick Premium - 00011-5246.00011-5246	4305-BLICK ART MATERIALS LLC	PINT	\$4.71	3	\$14.13
13602200	PAINT, Tempera, fluorescent, GREEN liquid, Plastic containers only; Blick Premium - 00011-726600011-7266	4305-BLICK ART MATERIALS LLC	PINT	\$4.71	3	\$14.13
	PAINT, Tempera, liquid, magenta Plastic containers only; NO SUB W/O SAMPLE. Blick Premium - OMEGA; CP00011-3046	4305-BLICK ART MATERIALS LLC	PINT	\$3.41	1	\$3.41
	PAINT, TEMPERA, FLUORESCENT, YELLOW-ORANGE liquid; Plastic containers only; Blick Premium 00011-4916.00011-4916	4305-BLICK ART MATERIALS LLC	PINT	\$4.71	2	\$9.42
	PAINT, Tempera, fluorescent,PINK liquid, Plastic containers only; Blick Premium - 00011-3716.00011-3716	4305-BLICK ART MATERIALS LLC	PINT	\$4.71	8	\$37.68
	PAINT, Tempera, fluorescent, RED liquid Plastic containers only; Blick Premium - 00011-3216.00011-3216	4305-BLICK ART MATERIALS LLC	PINT	\$4.71	7	\$32.97
	PAINT, Tempera, fluorescent, YELLOW liquid Plastic containers only; Blick Premium - 00011-4216.00011-4216	4305-BLICK ART MATERIALS LLC	PINT	\$4.71	9	\$42.39
	PAINT, Tempera, liquid, black In plastic dispenser; non-toxic, smooth, opaque, non-streaking CP certified. Blick Premium - 00011-2006.00011-2006	4305-BLICK ART MATERIALS LLC	PINT	\$3.41	2	\$6.82
	PAINT, Tempera, liquid, blue plastic dispenser; non-toxic, smooth, opaque, non-streaking, CF certified. Blick Premium - 00011-5006.00011-5006	4305-BLICK ART MATERIALS LLC	PINT	\$3.41	3	\$10.23
	PAINT, TEMPERA, LIQUID, TURQUOISE plastic dispenser; non-toxic, smooth, opaque, non- streaking, CP certified. Blick Premium 00011-5116.00011-5116	4305-BLICK ART MATERIALS LLC	PINT	\$3.41	8	\$27.28
	PAINT, TEMPERA, LIQUID, VIOLET plastic dispenser; non-toxic, smooth, opaque, non- streaking, CP certified; Blick Premium 00011-6506.00011-6506	4305-BLICK ART MATERIALS LLC	PINT	\$3.41	1	\$3.41
	PAINT, Tempera, liquid, BROWN plastic dispenser; non-toxic, smooth, opaque, non- streaking, CP certified; Blick Premium - 00011-8006.00011-8006	4305-BLICK ART MATERIALS LLC	PINT	\$3.41	5	\$17.05
	PAINT, Tempera, liquid, GOLD; plastic dispenser; non-toxic, smooth, opaque, non-streaking, CP certified; BLICK PREMIUM - 00011-900600011-9006	4305-BLICK ART MATERIALS LLC	PINT	\$5.56	15	\$83.40
	PAINT, Tempera, liquid, GREEN;plastic dispenser; non-toxic, smooth, opaque, non- streaking, CP certified; BLICK PREMIUM - 00011-7006.00011-7006	4305-BLICK ART MATERIALS LLC	PINT	\$3.41	12	\$40.92
	PAINT, Tempera, liquid, ORANGE; plastic dispenser; non-toxic, smooth, opaque, non- streaking, CP certified. BLICK PREMIUM - 00011-4506.00011-4506	4305-BLICK ART MATERIALS LLC	PINT	\$3.41	8	\$27.28
	PAINT, Tempera, liquid, RED; plastic dispenser; non-toxic, smooth, opaque, non-streaking, CP certified; BLICK PREMIUM - 00011-300600011-3006	4305-BLICK ART MATERIALS LLC	PINT	\$3.41	4	\$13.64
	PAINT, Tempera, liquid, silver; plastic dispenser; non-toxic, smooth, opaque, non-streaking, CP certified; BLICK PREMIUM - 00011-930600011-9306	4305-BLICK ART MATERIALS LLC	PINT	\$5.56	13	\$72.28
	PAINT, Tempera, liquid, WHITE; plastic dispenser; non-toxic, smooth, opaque, non- streaking, CP certified; BLICK PREMIUM - 00011-100600011-1006	4305-BLICK ART MATERIALS LLC	PINT	\$3.41	40	\$136.40
	PAINT, Tempera, liquid, yellow; plastic dispenser; non-toxic, smooth, opaque, non-streaking, CP certified; BLICK PREMIUM - 00011-4006.00011-4006	4305-BLICK ART MATERIALS LLC	PINT	\$3.41	5	\$17.05

Commodity Code	Description	<u>Vendor</u>	<u>Unit of</u> <u>Measure</u>	Awarded Price	<u>Qty</u>	Extended Price
13602420	PAINT, TEMPERA, LIQUID, YELLOW-GREEN; plastic dispenser; non-toxic, smooth, opaque, non-streaking, CP certified; BLICK PREMIUM - 00011-7346.00011-7346	4305-BLICK ART MATERIALS LLC	PINT	\$3.41	8	\$27.28
13602430	PAINT, TEMPERA, LIQUID, PEACH Plastic Dispenser; Non-Toxic, Smooth, Opaque, Non-Streaking, CP Certified; BLICK PREMIUM 00011-4106.00011-4106	4305-BLICK ART MATERIALS LLC	PINT	\$3.41	3	\$10.23
13602436	CRAYOLA PREMIER TEMPERA PAINT, PINT, TURQUOISE BLUE007860	7980-SCHOOL SPECIALTY LLC	PINT	\$3.15	5	\$15.75
13602437	PAINT; Kwik Stix Tempera Paint- 96 piece class PACK.1546514	7980-SCHOOL SPECIALTY LLC	SET	\$50.25	2	\$100.50
13602438	PAINT; Kwik Stix Tempera Paint- 12 classic colors per set.1546512	7980-SCHOOL SPECIALTY LLC	SET	\$7.05	12	\$84.60
13602439	PAINT; Kwikstix Tempera Sticks, 24 Pack Classic, Metalix and Neon.1560527	7980-SCHOOL SPECIALTY LLC	SET	\$14.70	20	\$294.00
13602440	PAINT, WATERCOLOR, OVAL PANS, SET Set of 8 assorted oval pans w/#7 brush. CRAYOLA.007560	7980-SCHOOL SPECIALTY LLC	SET	\$1.95	10	\$19.50
13602455	BLADE/SCRAPER EXCEL BLADES HAND-HELD SCRAPER WITH BLADES1391417	7980-SCHOOL SPECIALTY LLC	EACH	\$2.40	2	\$4.80
13602480	Paint, Watercolor Refill, Oval, Blue, pkg of 6; Crayola.CYO 53 1205 042	930-W. B. MASON CO., INC	BOX	\$1.71	26	\$44.46
13602500	Paint, Watercolor, Refill, Oval, Green, pkg of 6; Crayola.37535	5718-CASCADE SCHOOL SUPPLIES INC	BOX	\$1.94	16	\$31.04
13602510	Paint, Watercolor, Refill, Oval, Orange, pkg of 6; Crayola.37536	5718-CASCADE SCHOOL SUPPLIES INC	BOX	\$1.94	10	\$19.40
13602520	Paint, Watercolor, Refill, Oval, Red, pkg of 6; Crayola.CYO531205038	930-W. B. MASON CO., INC	BOX	\$1.71	22	\$37.62
13602530	Paint, Watercolor, Refill, Oval, Violet, pkg of 6; Crayola.37540	5718-CASCADE SCHOOL SUPPLIES INC	BOX	\$1.94	12	\$23.28
13602550	Paint, Watercolor, Refill, Oval, Yellow; pkg of 6; Crayola.CYO531205034	930-W. B. MASON CO., INC	BOX	\$1.71	29	\$49.59
13602560	PAINT, WATERCOLOR, TUBE, ALIZARIN CRIMSON 1/2" x 3" tubes, 7.5 ml.; Grumbacher.00330-3061	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48
13602570	PAINT, WATERCOLOR, TUBE, ALIZARIN ORANGE 1/2" x 3" tubes. 7.5 ml.; GRUMBACKER.00330-4911	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48
	PAINT, WATERCOLOR, TUBE, CADMIUM ORANGE 1/2" x 3" tubes, 7.5 ml.; GRUMBACHER.00330-4541	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48
13602590	PAINT, WATERCOLOR, TUBE, CADMIUM RED LIGHT 1/2" x 3" tubes, 7.4 ml.; GRUMBACHER.00330-3181	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48
	PAINT, WATERCOLOR, TUBE, CADMIUM RED MEDIUM 1/2" x 3" tubes, 7.4 ml.; GRUMBACHER.00330-3231	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48
13602610	PAINT, WATERCOLOR, TUBE, CADMIUM YELLOW MEDIUM 1/2" x 3" tubes, 7.4 ml.; GRUMBACKER.00330-4191	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48
13602640	PAINT, WATERCOLOR, TUBE, CERULEAN BLUE 1/2" x 3" tubes, 7.4 ml.; GRUMBACHER.00330-5171	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48
13602643	PAINT; WATERCOLOR; Grumbacher Academy Watercolor - Cerulean Blue Hue, 7.5 ml tube.00330-5171	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48
13602660	PAINT, WATERCOLOR, TUBE, COBALT BLUE 1/2" x 3" tubes, 7.4 ml.; GRUMBACHER.00330-5191	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48

Commodity	Description	Vandor	Unit of	Awarded	Qty	Extended
<u>Code</u>	<u>Description</u>	Vendor	<u>Measure</u>	<u>Price</u>	<u>Qty</u>	<u>Price</u>
13602690	PAINT, WATERCOLOR, TUBE, INDIAN RED 1/2" x 3" tubes, 7.4 ml.; GRUMBACHER00330-3731	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48
13602720	PAINT, WATERCOLOR, TUBE, SEPIA 1/2" x 3" tubes, 7.4 ml.; GRUMBACHER.00330-8081	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48
	PAINT, WATERCOLOR, TUBE, ULTRAMARINE BLUE 1/2" x 3" tubes, 7.4 ml; Grumbacher00330-5231	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48
13602780	PAINT, WATERCOLOR, TUBE, VIRIDIAN 1/2" x 3" tubes, 7.4 ml.; Grumbacher - a/s 00330-710100330-7101	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48
	PAINT, WATERCOLOR, TUBE, YELLOW OCHRE 1/2" x 3" tubes, 7.4 ml.; GRUMBACHER.00330-4931	4305-BLICK ART MATERIALS LLC	TUBE	\$2.74	2	\$5.48
13602800	PAINT, GOUACHE Mixing & designer SETS; HOLBEIN; (15mL tubes) Designer Set of 12l00812-4129	4305-BLICK ART MATERIALS LLC	TUBE	\$70.80	4	\$283.20
13602810	PAINT: Prang Washable Watercolor Set, 8 color oval B00350-1009.951962	8551-ODP BUSINESS SOLUTIONS LLC	SET	\$1.39	24	\$33.36
13602820	PAINT: Prang Washable Watercolor Set, 16 color oval B00350-1019.DIX16016	930-W. B. MASON CO., INC	SET	\$2.54	25	\$63.50
	PRANG SEMI-MOIST WATERCOLOR PAINT REFILL, OVAL PAN, TURQUOISE BLUE, 12 PANS405976	7980-SCHOOL SPECIALTY LLC	SET	\$5.05	29	\$146.45
	PRANG SEMI-MOIST WATERCOLOR PAINT REFILL, OVAL PAN, MAGENTA, 12 PANS405973	7980-SCHOOL SPECIALTY LLC	SET	\$5.05	29	\$146.45
13602840	PAINT: Blick Liquid Watercolor: BLUE, 8 oz bottle; B00369-5005.00369-5005	4305-BLICK ART MATERIALS LLC	EACH	\$2.73	2	\$5.46
13602870	PAINT: Blick Liquid Watercolor: GREEN, 8 oz bottle; B00369-7005.00369-7005	4305-BLICK ART MATERIALS LLC	EACH	\$2.73	1	\$2.73
13602877	Blick Liquid Water colors Metallic Gold, 237 ml bottle.00369-9015	4305-BLICK ART MATERIALS LLC	BTL	\$3.17	1	\$3.17
13602878	Blick Liquid Water colors Metallic Pearl, 237 ml bottle.00369-1095	4305-BLICK ART MATERIALS LLC	BTL	\$3.17	1	\$3.17
13602879	Blick Liquid Water colors Metallic Silver, 237 bottle.00369-9335	4305-BLICK ART MATERIALS LLC	BTL	\$3.17	1	\$3.17
13602880	PAINT: Blick Liquid Watercolor: ORANGE, 8 oz bottle; B00369-4505.00369-4505	4305-BLICK ART MATERIALS LLC	EACH	\$2.73	1	\$2.73
13602889	Blick Liquid Water colors Turquoise, 237 ml bottle.00369-5115	4305-BLICK ART MATERIALS LLC	BTL	\$2.73	1	\$2.73
13602890	PAINT: Blick Liquid Watercolor: RED, 8 oz bottle; B00369-3005.00369-3005	4305-BLICK ART MATERIALS LLC	EACH	\$2.73	2	\$5.46
13602891	PAINT: Blick Liquid Watercolor: VIOLET, 8 oz bottle; B00369-6505.00369-6505	4305-BLICK ART MATERIALS LLC	EACH	\$2.73	1	\$2.73
13602892	PAINT: Blick Liquid Watercolor: YELLOW, 8 oz bottle; B00369-4005.00369-4005	4305-BLICK ART MATERIALS LLC	EACH	\$2.73	2	\$5.46
13602894	TURPENOID - WEBER: QUART PLASTIC BOTTLE02054-1007	4305-BLICK ART MATERIALS LLC	EACH	\$14.37	6	\$86.22
13602915	Jack Richeson Watercolors, Standard Colors, Set of 24, Includes: White, Yellow, Orange, Red, Magenta, Brown, Green, Gold, Turquoise Green, Blue, Ultramarine Blue, Purple, Black, Violet, Crimson, Mauve, Tan, Light Yellow, White, Bu30682		SET	\$5.49	24	\$131.76
13602950	WATERCOLORS, Pelikan Opaque Watercolor and Gouache Pan Sets. High quality pigments of the finest grain size. Easily soluble, good lightfastness with brilliant, dense colors Conforms to DIN 5023. Set of 12. Pelikan244620	7980-SCHOOL SPECIALTY LLC	SET	\$11.70	6	\$70.20

Commodity	Description	Vendor	Unit of	Awarded	Qty	Extended
<u>Code</u>			<u>Measure</u>	<u>Price</u>	4.7	<u>Price</u>
13603300	Paper Pad; Canva-Paper Pad, 9x12; 10 sheets per pad.417151	7980-SCHOOL SPECIALTY LLC	PAD	\$5.50	11	\$60.50
13603302	Paper Pad; Canva-Paper Pad, 9x16; 10 sheets per pad.9728662 FREDRIX	6156-NASCO EDUCATION LLC	PAD	\$9.96	1	\$9.96
13603304	Paper Pad; Canva-Paper Pad, 16x20; 10 sheets per pad.222873	7980-SCHOOL SPECIALTY LLC	PAD	\$15.35	1	\$15.35
13603306	Paper Pad; Canva-Paper Pad, 18x24; 10 sheets per pad.9728664 FREDRIX	6156-NASCO EDUCATION LLC	PAD	\$22.44	1	\$22.44
13604000	Plates, Uncoated Paper Plates, 100/pkg, 9 inch Diameter.9660	5718-CASCADE SCHOOL SUPPLIES INC	PACK	\$3.25	5	\$16.25
13605000	Painter's Tape - 3M Scotch-Blue Painter's Tape for Delicate Surfaces - 3/4" x 60 yd. 3M22145	5718-CASCADE SCHOOL SUPPLIES INC	ROLL	\$3.00	2	\$6.00
13700012	ACETATE Clear Sheets, 8-12 Inch x 11 Inch, 50 Sheets; Cellulose Acetate, Glossy on Both Sides.55501-1085	4305-BLICK ART MATERIALS LLC	PACK	\$16.66	2	\$33.32
13700030	BOARD, CHIPBOARD, GRAY, NLT 26" (W) x NLT 38" (L), Light weight, x NLT .035" thick; Smooth, uncoated surface, gray on both sides; 10/pack SAX;705456848456848 SCHOOL	7980-SCHOOL SPECIALTY LLC	PACK	\$23.35	2	\$46.70
13700060	BOARD, CHIPBOARD, GRAY, NLT 28" (W) x NLT 44" (L), Very Heavyweight, x NLT .1" Thick; Smooth, uncoated surface, gray on both sides; 10/pack13115-2236-10	4305-BLICK ART MATERIALS LLC	PACK	\$36.60	4	\$146.40
13700100	Crescent Foam Center Board, 10/Package; 32" x 40". SAX 705 44096 -13202-1007 ELMER	4305-BLICK ART MATERIALS LLC	PACK	\$42.54	4	\$170.16
13700108	BOARD, TAG; PACON HEAVY SHITE TAGBOARD; 12 INCHES X 18 INCHES; STURDY, MULTI-PURPOSE TAG STOCK WITH SAME COLOR ON EITHER SIDES, COMES IN A PACK OF 100 SHEETS, 150LBS.208604	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$18.25	11	\$200.75
13700110	BOARD, Tag, White, 24" x 36", 150 lb. Stock; 2 ply, .010" thick, 100 sheets/pkg 40060; Am Paper 1124111926	5718-CASCADE SCHOOL SUPPLIES INC	PACK	\$20.83	5	\$104.15
13700120	BOARD, Matting/Mounting, Black 14 ply, 28" x 44"; matte color on one side, gray on other; 10/pack; NO SUB W/O SAMPLE Crescent Melton Mounts - 70540508413003-2102-10	4305-BLICK ART MATERIALS LLC	PACK	\$54.90	10	\$549.00
13700150	BOARD, MATTING/MOUNTING, WHITE 14 ply, 28" x 44"; matte color on one side, gray on other; 10/pack; NO SUB W/O SAMPLE Crescent Melton Mounts - 70540508213003-1102-10	4305-BLICK ART MATERIALS LLC	PACK	\$52.80	5	\$264.00
13700160	BOARD, POSTER, WHITE 10 ply; 22" x 28" - 4026140261	172200-KURTZ BROTHERS	EACH	\$0.70	90	\$63.00
13700170	BOARD, TAG, MANILA, 09" X 12" 125 lb. stock; 2 ply .010; 100 sheets/pkg Boston Paper - SCHOOL SMRT;705085506PAC 5181	930-W. B. MASON CO., INC	PACK	\$2.83	28	\$79.24
13700180	BOARD, TAG, MANILA, 12" x 18" 125 lb. stock; 2 ply .010; 100 sheets/pkg Boston Paper - 40002; Kurtz Bros #15PAC 5184	930-W. B. MASON CO., INC	PACK	\$5.31	10	\$53.10
	BOARD, TAG, MANILA, 18" x 24" 125 lb. stock; 2 ply .010; 100 sheets/pkg Boston Paper - 40003PAC5190	930-W. B. MASON CO., INC	PACK	\$11.95	8	\$95.60
13700200	BOARD, TAG, MANILA, 24" x 36" 150 lb. stock; 2 ply .010; 100 sheets/pkg SCHOOL SMRT;705085516111771	5718-CASCADE SCHOOL SUPPLIES INC	PACK	\$27.61	5	\$138.05

Commodity	Description	Vendor	<u>Unit of</u>	Awarded	Qty	Extended
<u>Code</u>	Description	Veridor	<u>Measure</u>	<u>Price</u>	<u>Qιy</u>	<u>Price</u>
	BOARD, TAG, WHITE, 12" X 18" 125 lb stock; 2 ply .010; 100 sheets/pkg SCHOOL SMRT;705085484PAC5284	930-W. B. MASON CO., INC	PACK	\$5.31	26	\$138.06
13700220	BOARD, TAG, WHITE, 18" X 24" 150 lb. stock; 2 ply .010; 100 sheets/pkg. Boston Paper - SCHOOL SMRT;705085498111774	5718-CASCADE SCHOOL SUPPLIES INC	PACK	\$13.31	12	\$159.72
13700227	Black Art Paper, Richeson, 9"x12" Sheets, pkg of 50.9740714	6156-NASCO EDUCATION LLC	PACK	\$16.04	4	\$64.16
13700229	BLICK 140 LB PREMIUM CARDSTOCK BLACK 18"X24"11408-2020	4305-BLICK ART MATERIALS LLC	SHEE	\$2.97	10	\$29.70
13700230	PAPER, BLOCK PRINTING, 09" X 12" 100 sheets/pkg. Blick Masterprinter - a/s 10402-100310402-1003	4305-BLICK ART MATERIALS LLC	PACK	\$3.49	2	\$6.98
13700231	MARKER PAD, Chartpak Ad Marker Pad, 24 Sheets 17" x 14".409527	7980-SCHOOL SPECIALTY LLC	EACH	\$7.40	1	\$7.40
13700290	PAPER, BOGUS, 18" X 24" Gray, 70 lb. basis; stiff sheet; 250 sheets/ream -35203	172200-KURTZ BROTHERS	REAM	\$21.58	1	\$21.58
	PAPER, Canson Mi-Tientes, 19" x 25", Black; 98 LB Acid-free; 65% rag; 10 sheets/pkg.10710-2001-10	4305-BLICK ART MATERIALS LLC	EACH	\$18.60	1	\$18.60
	PAPER, CANSON MI-TIENTES, DARK GRAY, 19" X 25", 98 LB Acid free; 65% rag; 10 sheets /pkg.10710-2531-10	4305-BLICK ART MATERIALS LLC	PACK	\$18.60	1	\$18.60
	PAPER, CANSON MI-TIENTES, FELT GREY, 19" x 25", 98 LB. Acid free; 65% rag; 10 sheets /pkg NO SUB W/O SAMPLE - 9719974D10710-2161-10	4305-BLICK ART MATERIALS LLC	PACK	\$18.60	1	\$18.60
	PAPER, CANSON MI-TIENTES, SAND, 19" x 25", 98 LB. Acid free; 65% rag; 10 sheets/pkg NO SUB W/O SAMPLE - 10710-2551-1010710-2551-10	4305-BLICK ART MATERIALS LLC	PACK	\$18.60	1	\$18.60
	PAPER, CANSON MI-TIENTES, STEEL GREY, 19" x 25", 98 LB. Acid free; 65% rag; 10 sheets /pkg NO SUB W/O SAMPLE - 9719974H10710-2661-10	4305-BLICK ART MATERIALS LLC	PACK	\$18.60	2	\$37.20
	PAPER, Canson Mi-Tientes, VIOLET, 19" x 25", 98 LB Acid-free; 65% rag; 10 sheets/pkg.10710-6191-10	4305-BLICK ART MATERIALS LLC	PACK	\$18.60	1	\$18.60
13700481	AC CARDSTOCK PAPER PACKS JEWEL COLORS, PKG OF 60 SHEETS12764-1070	4305-BLICK ART MATERIALS LLC	PACK	\$15.38	1	\$15.38
13700482	AC CARDSTOCK PAPER PACKS PASTEL COLORS, PKG OF 60 SHEETS12764-1120	4305-BLICK ART MATERIALS LLC	PACK	\$15.38	1	\$15.38
	PAPER, CHARCOAL, FOG BLUE 19" x 25"; 100% rag, Strathmore 500 Series; deckle-edged, laid finish; 25/pkg35233	172200-KURTZ BROTHERS	PACK	\$32.00	1	\$32.00
	PAPER, CHARCOAL, POTTERY GREEN, DARK 19" x 25"; 100% rag, Strathmore; deckle-edged, laid finish; 25/pkg10700-7401-25	4305-BLICK ART MATERIALS LLC	PACK	\$30.50	1	\$30.50
	PAPER, CHARCOAL, GREEN, LIGHT 19" x 25"; 100% rag, Strathmore; deckle-edged, laid finish; 25/pkg10703-7071-25	4305-BLICK ART MATERIALS LLC	PACK	\$32.50	1	\$32.50
	PAPER, CHARCOAL, SAND; 19" x 25"; 100% rag, Strathmore; deckle-edged, laid finish; 25/pkg2021626	7980-SCHOOL SPECIALTY LLC	PACK	\$29.65	1	\$29.65
	PAPER, CHARCOAL, WHITE 19" x 25"; 100% rag, Strathmore; deckle-edged, laid finish; 25/pkg 9705103K1369765	7980-SCHOOL SPECIALTY LLC	PACK	\$28.65	1	\$28.65
13700800	PAPER, CONSTRUCTION, ASSORTED, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru-RayPAC103063	930-W. B. MASON CO., INC	PACK	\$3.54	50	\$177.00

Commodity	Description	Vondor	Unit of	Awarded	04.	Extended
<u>Code</u>	<u>Description</u>	<u>Vendor</u>	<u>Measure</u>	<u>Price</u>	<u>Qty</u>	<u>Price</u>
	PAPER, CONSTRUCTION, ASSORTED, 18" X 24" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru-Ray.338194	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$7.61	23	\$175.03
	PAPER, CONSTRUCTION, Assorted, 24" x 36" 100% Sulphite. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru-Ray.338202	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$14.35	3	\$43.05
	PAPER, CONSTRUCTION, ASSORTED BRIGHTS, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant; 76 lb.; Tru Ray.37699	172200-KURTZ BROTHERS	PACK	\$3.93	10	\$39.30
	PAPER, CONSTRUCTION, BLACK, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru Ray.PAC 103061	930-W. B. MASON CO., INC	PACK	\$2.73	49	\$133.77
	PAPER, CONSTRUCTION, BLACK, 18" X 24" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru Ray.230540	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$5.03	3	\$15.09
	PAPER, CONSTRUCTION, BLUE-, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru Ray338475	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$2.81	23	\$64.63
	PAPER, CONSTRUCTION, BLUE, ROYAL, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru Ray.338392	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$2.82	16	\$45.12
	PAPER, CONSTRUCTION, BLUE SKY, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru-Ray.338376	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$2.82	10	\$28.20
	PAPER, Construction, Turquoise; 12" X 18" 100% Sulphite. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru-Ray.PAC 103039	930-W. B. MASON CO., INC	PACK	\$3.38	18	\$60.84
	PAPER, CONSTRUCTION, WARM BROWN, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Peacock Brand Brown.338574	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$2.82	10	\$28.20
13700990	PAPER, CONSTRUCTION, BROWN, DARK, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg., Tru-Ray.054135	7980-SCHOOL SPECIALTY LLC	PACK	\$3.60	10	\$36.00
	PAPER, CONSTRUCTION,TAN, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru-Ray TAN.368044	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$6.79	6	\$40.74
	PAPER, CONSTRUCTION, GRAY, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru-Ray.PAC 103059	930-W. B. MASON CO., INC	PACK	\$2.96	16	\$47.36
	PAPER, CONSTRUCTION, SLATE GRAY 12" x 18" 100% Sulphite. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru-Ray.PAC 103060	930-W. B. MASON CO., INC	PACK	\$3.09	15	\$46.35
	PAPER, CONSTRUCTION, FESTIVE GREEN, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru-Ray.338715	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$2.82	17	\$47.94
13701090	PAPER, CONSTRUCTION, FESTIVE GREEN, 18" X 24" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru-Ray.230607	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$5.02	4	\$20.08
	PAPER, Construction, green, dark, 12" X 18" 100% Sulphite. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru-Ray.338715	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$2.82	10	\$28.20
	PAPER, CONSTRUCTION, ORANGE, 12" X 18" 100% SULPHITE. Vat dyed; fade resistan6 lb. basis; 50 sheets/pkg.; Tru-Ray.338434	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$2.82	21	\$59.22
13701160	PAPER, CONSTRUCTION, ORANGE, 18" X 24" 100% SULPHITE. Vat dyed; fade resistant; 76 lb. basis; 50 sheets/pkg.; Tru-RayPAC 103066	930-W. B. MASON CO., INC	PACK	\$6.82	4	\$27.28

Commodity	Description	Vandar	Unit of	Awarded	Qty	Extended
<u>Code</u>	<u>Description</u>	<u>Vendor</u>	Measure	<u>Price</u>	Price Qty	Price
13701180	PAPER, Construction, VIOLET, 12" X 18" 100% Sulphite. Vat dyed; fade resistant; 76 lb.	930-W. B. MASON CO., INC	PACK	\$3.09	11	\$33.99
	basis; 50 sheets/pkg.; Tru-Ray.PAC103041					
	PAPER, CONSTRUCTION, LILAC, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant; 76	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$3.30	14	\$46.20
	lb. basis; 50 sheets/pkg.; Tru-Ray.338418					
	PAPER, CONSTRUCTION, HOLIDAY RED, 12" X 18" 100% SULPHITE. Vat dyed; fade	930-W. B. MASON CO., INC	PACK	\$3.12	40	\$124.80
	resistant; 76 lb. basis; 50 sheets/pkg.; Peacock.PAC 102994					
	PAPER, CONSTRUCTION, PINK, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant; 76	930-W. B. MASON CO., INC	PACK	\$3.15	13	\$40.95
	lb. basis; 50 sheets/pkg; Tru-RayPAC 103044 PAPER, CONSTRUCTION, PUMPKIN, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant;	0551 ODD BUSINESS SOLUTIONS LLC	PACK	\$8.59	8	\$68.72
	80 lb. basis; 50 sheets/pkg.; Tru-Ray230201	10001-ODP BUSINESS SOLUTIONS LLC	PACK	φο.59	0	Φ00.72
	PAPER, CONSTRUCTION, MAGENTA, 12" X 18" 100% SULPHITE. Vat dyed; fade	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$2.92	7	\$20.44
	resistant; 80 lb. basis; 50 sheets/pkg.; Tru-Ray.338210	COOT OF BOOMEDO COLOTIONS LEG	17.01	Ψ2.02		Ψ20.11
	PAPER, CONSTRUCTION, WHITE, 12" X 18" 100% SULPHITE. Vat dyed; fade resistant;	930-W. B. MASON CO., INC	PACK	\$2.64	51	\$134.64
	76 lb. basis; 50 sheets/pkg.; Tru-Ray.PAC 103058	·				
	PAPER, CONSTRUCTION, WHITE, 18" X 24" 100% SULPHITE. Vat dyed; fade resistant;	930-W. B. MASON CO., INC	PACK	\$5.97	14	\$83.58
	76 lb. basis; 50 sheets/pkg.; Tru-Ray.PAC 103090					
	PAPER, CONSTRUCTION, YELLOW-, 12" X 18" 100% SULPHITE. Vat dyed; fade	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$2.81	23	\$64.63
	resistant; 76 lb. basis; 50 sheets/pkg.; Tru Ray.338533					
	PAPER, CONSTRUCTION, YELLOW-, LIGHT, 18" X 24" 100% SULPHITE. Vat dyed; fade	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$5.02	16	\$80.32
	resistant; 76 lb. basis; 50 sheets/pkg.; Tru-Ray.230425 PAPER, CONSTRUCTION, BRILLIANT LIME, 12" X 18" 100% SULPHITE. Vat dyed; fade	930-W. B. MASON CO., INC	PACK	\$3.40	13	\$44.20
	resistant; 76 lb. basis; 50 shets/pkgeets/pkg.; Tru-Ray.PAC 103425	1930-W. B. MASON CO., INC	PACK	φ3.40	13	Φ44.20
		5718-CASCADE SCHOOL SUPPLIES INC	EACH	\$15.84	1	\$15.84
	Paper, Corrugated, 48" x 25', White, Roll. Corobuff -006015	7980-SCHOOL SPECIALTY LLC	EACH	\$18.75	2	\$37.50
					- 4	-
	STRATHMORE 400 SERIES SMOOTH SURFACE DRAWING ROLL13651-1042	4305-BLICK ART MATERIALS LLC	ROLL	\$14.60	4	\$58.40
13701600	PAPER, DRAWING SHEET 80#, 19" x 24", pkg of 100 sheets; Strathmore 400 -10206-0009-100	4305-BLICK ART MATERIALS LLC	PACK	\$68.00	1	\$68.00
13701610	PAPER, DRAWING SHEET 80#, 19" x 24", pkg of 100 sheets309685	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$9.91	8	\$79.28
13701620	PAPER, FADELESS, ASSORTED, 12" x 18" 60 sheets/pkg; NO SUB W/O SAMPLE.	930-W. B. MASON CO., INC	PACK	\$5.48	1	\$5.48
	BEMISS-JASON, FADELESS.PAC 57504			70.10		75
13701759	HP C6569C HEAVY-WEIGHT COATED PAPER-ROLL (36 IN X 100 FT) - FOR	8551-ODP BUSINESS SOLUTIONS LLC	ROLL	\$114.66	1	\$114.66
	DESIGNJET 45XX698171					
13701760	Paper, Kraft, Brown, Roll, 36" x 1000' - 12505085467	7980-SCHOOL SPECIALTY LLC	EACH	\$43.90	2	\$87.80
13701764	Rainbow Duo Kraft Roll Paper, YELLOW; 36 Inches x 1000 Feet.115557	5718-CASCADE SCHOOL SUPPLIES INC	ROLL	\$49.34	1	\$49.34
13701770	Paper, Kraft, White, Roll, 36" x 1000' RNBWCLRKRFT;705027288115554	5718-CASCADE SCHOOL SUPPLIES INC	EACH	\$43.08	1	\$43.08
13701780	PAPER, MANILA DRAWING, 09" x 12", 50 LB. Medium weight SAX;705085541085541	7980-SCHOOL SPECIALTY LLC	REAM	\$5.45	11	\$59.95

Commodity	Description	Vendor	Unit of	Awarded	Qty	Extended
<u>Code</u>	Description	<u>vendor</u>	<u>Measure</u>	<u>Price</u>	Price Qty	<u>Price</u>
13701790	PAPER, Manila drawing, 09" x 12", 60 LB. Heavy weight SAX;30085570085570	7980-SCHOOL SPECIALTY LLC	REAM	\$6.80	41	\$278.80
13701800	PAPER, MANILA DRAWING, 12" x 18", 50 LB. Medium weight SAX;705085549085549	7980-SCHOOL SPECIALTY LLC	REAM	\$10.90	6	\$65.40
13701840	PAPER, METALLIC, ASSORTED, 20" X 26"; 24 sheets/pkg 3801038010	172200-KURTZ BROTHERS	PACK	\$11.73	2	\$23.46
13701842	MI-TEINTES DRAWING PAPER, SINGLE SHEET, CLOUD WHITE10710-1061	4305-BLICK ART MATERIALS LLC	SHEE	\$1.86	5	\$9.30
13701844	PAPER; MI-TEINTES PAPERS - CREAM COLOR; 19 INCHES X 25 INCHES SHEET "VELLUM" TEXTURE ON THE TOP SIDE AND A FLAT SURFACE ON THE REVERSE, HEAVY, 98 LB (160 GSM) SHEET; RAG CONTENT(66%).10710-1101	4305-BLICK ART MATERIALS LLC	EACH	\$1.86	5	\$9.30
13701848	PAPER, Mixed Media Paper - Heavyweight (80 lb), acid-free, sulphite art paper, natural white color, a medium tooth, and extra sizing t for all types of media. Mixed Media Paper, 500 Sheets - 18" × 24" - 80 lb. Pacon Art1st25124	172200-KURTZ BROTHERS	PACK	\$99.33	2	\$198.66
13701850	PAPER, NEWSPRINT, UNRULED, 09" X 12" 30 lb. basis; smooth finish Modern 446U - SAX;705085596085596 SCHOOL	7980-SCHOOL SPECIALTY LLC	REAM	\$3.40	6	\$20.40
13701860	PAPER, NEWSPRINT, UNRULED, 12" X 18" 30 lb. basis; smooth finish Modern 447U - SAX;705085597085597	7980-SCHOOL SPECIALTY LLC	REAM	\$6.80	5	\$34.00
13701880	PAPER, NEWSPRINT, UNRULED, 24" X 36" 30 lb. basis; smooth finish -109634	5718-CASCADE SCHOOL SUPPLIES INC	REAM	\$26.69	1	\$26.69
13701890	PAPER, PASTEL, 33" x 41", Hahnemulhle Bugra; Color / Sapphire Blue; No Sub.; B10702-5366.10702-5296	4305-BLICK ART MATERIALS LLC	EACH	\$4.98	2	\$9.96
13701903	HP UNIVERSAL INSTANT-DRY SATIN PHOTO PAPER (24" X 100' ROLL)HP 2707578	8055-STAPLES INC	ROLL	\$129.61	1	\$129.61
13701920	PAPER, SCRATCHBOARD, 11" X 14", LIGHT WEIGHT Clay-coated; 12 sheets/pkg 485005	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$19.99	4	\$79.96
13701930	PAPER, SCRATCHBOARD, 11" X 14", STANDARD WEIGHT Clay-coated; 12 sheets/pkg 485005	8551-ODP BUSINESS SOLUTIONS LLC	PACK	\$19.99	4	\$79.96
13702010	PAPER, TISSUE, ASSORTED 20" x 30" ; 20 per Pack 70500617784975	172200-KURTZ BROTHERS	PACK	\$2.50	1	\$2.50
13702020	PAPER, TRACING, 09" X 12", 25# Student quality - SAX;705205547205547	7980-SCHOOL SPECIALTY LLC	REAM	\$12.95	5	\$64.75
13702035	PAPER, VELOUR, 19 X 27; Hahnemuhle; color / BLACK; No Sub.10702-2006	4305-BLICK ART MATERIALS LLC	EACH	\$4.98	5	\$24.90
13702040	Paper, Watercolor, Student Grade; 22" x 30". Dick Blick B10028-2152.10028-1022	4305-BLICK ART MATERIALS LLC	EACH	\$0.58	50	\$29.00
13702045	PAPER; Watercolor Paper; Jack Richeson Bulk Watercolor Paper; White, 88 lb. Package of 50 Sheets; Machine-made cold press paper made from 100% wood pulp. Richeson.1540145	7980-SCHOOL SPECIALTY LLC	PACK	\$8.40	12	\$100.80
13702050	PAPER, WATERCOLOR, 22" X 30", 140 LB Rough surface; deckle edge; 10 per pack; NO SUB W/O SAMPLE STRATHMORE SERIES 400 - 705404892404892	7980-SCHOOL SPECIALTY LLC	PACK	\$18.50	6	\$111.00
13702090	Paper, White drawing, 100% sulphite, 9" x 12"; 60 lb. stock, medium weight; SAX Extrawhite.053931	7980-SCHOOL SPECIALTY LLC	REAM	\$10.60	26	\$275.60
13702100	Paper, White drawing, 100% Sulphite, 9" x 12"; 80 lb. stock, heavy weight; SAX extra- white.053943	7980-SCHOOL SPECIALTY LLC	REAM	\$12.90	56	\$722.40

Commodity	Description	Vendor	Unit of	Awarded	Qty	Extended
<u>Code</u>		<u></u>	<u>Measure</u>	re Price	<u> </u>	<u>Price</u>
13702110	PAPER, WHITE DRAWING, 100% SULPHITE, 12" x 18" 60 lb. stock, medium weight; SAX extra-white.053934	7980-SCHOOL SPECIALTY LLC	REAM	\$18.60	6	\$111.60
	PAPER, WHITE DRAWING, 100% SULPHITE, 12" x 18" 80 lb. stock, heavy weight; SAX extra white.053946	7980-SCHOOL SPECIALTY LLC	REAM	\$27.20	54	\$1,468.80
13702140	PAPER, WHITE DRAWING, 100% SULPHITE, 18" x 24" 80 lb. stock, heavy weight; SAX extra white.053949	7980-SCHOOL SPECIALTY LLC	REAM	\$60.60	6	\$363.60
	PAPER; SYNTHETIC PAPER TRANSPARENT; YUPO; ULTRA BRIGHT WHITE, 23" X 35" sheet, 104 LB10084-1008 25X38	4305-BLICK ART MATERIALS LLC	EACH	\$4.02	2	\$8.04
13702240	PAPER: Saral Transfer Paper, Wax Free, YELLOW, 12 1/2 feet x 12 feet, Roll.12917-4012	4305-BLICK ART MATERIALS LLC	ROLL	\$9.92	2	\$19.84
	PAINTING PANEL: American Easel Wood Painting Panel; Deep Panel, 12 inch x 24 inch x 1 5/8 feet deep.13606-2024	4305-BLICK ART MATERIALS LLC	EACH	\$17.63	2	\$35.26
	PAINTING PANEL: American Easel Wood Painting Panel; Deep Panel, 12 inch x 16 inch x 1 5/8 feet deep.13606-2016	4305-BLICK ART MATERIALS LLC	EACH	\$12.85	2	\$25.70
	PAINTING PANEL: American Easel Wood Painting Panel; Deep Panel, 11 inch x 14 inch x 1 5/8 feet deep.13606-2014	4305-BLICK ART MATERIALS LLC	EACH	\$11.02	2	\$22.04
	PAINTING PANEL: American Easel Wood Painting Panel; Deep Panel, 8 inch x 10 inch x 1 5/8 feet deep.13606-2010	4305-BLICK ART MATERIALS LLC	EACH	\$7.44	2	\$14.88
13702290	PAINTING PANEL SET: American Easel Wood Painting Panel Package of 3; 12 x 12 inch. Two unprimed and one primed.13740-1212	4305-BLICK ART MATERIALS LLC	PKG	\$25.21	2	\$50.42
	PAINTING PANEL SET: American Easel Wood Painting Panel Package of 3; 8 inch x 10 inch. Two unprimed and one primed.13740-1810	4305-BLICK ART MATERIALS LLC	PKG	\$17.53	2	\$35.06
	CANVAS: Blick Studio Traditional Profile Cotton Canvas - 22 inch x 28 inch, 3/4 inch Profile 07135-2012.07135-2012	4305-BLICK ART MATERIALS LLC	EACH	\$8.06	22	\$177.32
13703551	Imitation Gold Leaf, Mona Lisa, Looks and feels like genuine gold leaf, 25-sheet booklet, 5 1/2" x 5 1/2" sheets.1402092 ALT SZ	7980-SCHOOL SPECIALTY LLC	EACH	\$7.35	1	\$7.35
13703552	Imitation Silver Leaf, Mona Lisa, Looks and feels like genuine silver leaf, 25-sheet booklet, 5 $1/2$ " x 5 $1/2$ " sheets.27012-2050	4305-BLICK ART MATERIALS LLC	EACH	\$7.22	1	\$7.22
	TISSUE: Spectra Deluxe Bleeding Art Tissue - 20" x 30", Cool Colors (Assorted); Package of 20 Sheets; Color:Cool Colors (Assorted); Size:20" × 30"; Two sheets each of 10 blues and greens. Spectra38032		PACK	\$2.91	22	\$64.02
	TISSUE: Spectra Deluxe Bleeding Art Tissue - 20" x 30"; Warm Colors (Assorted);Package of 20 Sheets Size: 20" × 30";Two sheets each of 10 warm reds and yellows. Spectra38044	172200-KURTZ BROTHERS	PACK	\$3.06	20	\$61.20
13704500	Watercolor Postcards, Richeson 135#, 4" x 6", pkg of 50.09605-1154	4305-BLICK ART MATERIALS LLC	PACK	\$4.46	5	\$22.30
	BRAYER, SOFT RUBBER, 4" Metal core. Speedball 4126 - SPEEDBALL; 4126Speedball 4126	205620-PYRAMID SCHOOL PRODUCTS	EACH	\$9.29	2	\$18.58
	BRAYER, SOFT RUBBER, 6" Metal core. Speedball 66-4129 - SPEEDBALL; 4129Speedball 4129	205620-PYRAMID SCHOOL PRODUCTS	EACH	\$10.49	1	\$10.49

Commodity	Description	Vandan	Unit of	Awarded	Awarded <u>Qty</u>	Extended
<u>Code</u>	<u>Description</u>	<u>Vendor</u>	<u>Measure</u>	Price		<u>Price</u>
13800060	INK, BLOCKPRINTING, BLACK 5 oz. tube; Dick Blick C40305-2007.40305-2007	4305-BLICK ART MATERIALS LLC	EACH	\$6.86	19	\$130.34
13800070	INK, BLOCKPRINTING, BLUE 5 oz. tube; Dick Blick C40305-5007.40305-5007	4305-BLICK ART MATERIALS LLC	EACH	\$6.86	16	\$109.76
13800120	INK, BLOCKPRINTING, GREEN 5 oz. tube; Dick Blick C40305-7007.40305-7007	4305-BLICK ART MATERIALS LLC	EACH	\$6.86	5	\$34.30
13800130	INK, BLOCKPRINTING, MAGENTA 5 oz. tube; Dick Blick C40305-3047.40305-3047	4305-BLICK ART MATERIALS LLC	EACH	\$6.86	3	\$20.58
13800140	INK, BLOCKPRINTING, ORANGE 5 oz. tube; Dick Blick C40305-4507.40305-4507	4305-BLICK ART MATERIALS LLC	EACH	\$6.86	6	\$41.16
13800150	INK, BLOCKPRINTING, RED 5 oz. tube; Dick Blick C40305-3007.40305-3007	4305-BLICK ART MATERIALS LLC	EACH	\$6.86	7	\$48.02
13800160	INK, BLOCKPRINTING, TURQUOISE 5 oz. tube; Dick Blick C40305-511740305-5117	4305-BLICK ART MATERIALS LLC	EACH	\$6.86	10	\$68.60
13800170	INK, BLOCKPRINTING, VIOLET 5 oz. tube; Dick Blick C40305-6507.40305-6507	4305-BLICK ART MATERIALS LLC	EACH	\$6.86	5	\$34.30
13800180	INK, BLOCKPRINTING, WHITE 5 oz. tube; C40305-1007.40305-1007	4305-BLICK ART MATERIALS LLC	EACH	\$6.86	31	\$212.66
13800190	INK, BLOCKPRINTING, YELLOW 5 oz. tube; Dick Blick C40305-4007.40305-4007	4305-BLICK ART MATERIALS LLC	EACH	\$6.86	8	\$54.88
13800283	Paper, Nature Print, Make white-on-blue prints, 30 sheets per pack, 5 inches by 7 inches.11216-1001	4305-BLICK ART MATERIALS LLC	PACK	\$8.95	1	\$8.95
13800350	Trays, Styrofoam, 11" x 9" 250/Pack. Sax 705 467732 -467732DYNE-A-PAK	7980-SCHOOL SPECIALTY LLC	PACK	\$44.10	3	\$132.30
	PRINT BLOCKS - Soft-Kut; 1/4 thick block with 2 usable surfaces; 12" x 18" SOFT-KUT;705399008399008	7980-SCHOOL SPECIALTY LLC	EACH	\$10.40	1	\$10.40
13800380	PRINT FOAM for Printing - 12" x 18"; 12 per pack 971285940403-1006	4305-BLICK ART MATERIALS LLC	PACK	\$12.66	13	\$164.58
	Printing Plate, Gelli Art, 8 inches by 10 inches, 3/8 inches thick, and are easy to clean with soap and water, hand sanitizer or baby wipes.47003-1810	4305-BLICK ART MATERIALS LLC	EACH	\$22.81	14	\$319.34
13800700	MESH SCREEN PRINTING MESH; 3 Yards 1.27 Meters Silk Screen Printing Fabric Mesh Screen Printing Mesh Wide High Tension Mesh Making Ink Supplies 110 Mesh.43405-1109-3	4305-BLICK ART MATERIALS LLC	ROLL	\$25.53	3	\$76.59
13800760	HEAT TRANSFER IRON-ON VINYL; Black Heat Transfer Iron-On Vinyl Roll - 12 inches wide.64935-2014	4305-BLICK ART MATERIALS LLC	ROLL	\$8.04	45	\$361.80
13900152	CLAY; Sculpey III - Bright Ideas Set — Contains 10 blocks, 2 oz (57 g) each. Granny Smith, Hot pink, Fuschia Pearl, Just Orange, Violet, Turquoise, White, Purple, Yellow, Red Hot Red. Sculpey216036	7980-SCHOOL SPECIALTY LLC	SET	\$13.15	2	\$26.30
	CLAY; Sculpey III - Classic Collection Set — Contains 10 blocks, 2 oz (57 g) each. White, Black, Chocolate, Blue, Yellow, Red, Beige, Emerald, Purple, and Just Orange. Sculpey408625	7980-SCHOOL SPECIALTY LLC	SET	\$13.15	5	\$65.75
	CLAY; Sculpey III - Naturals Set — Contains 10 blocks, 2 oz. (57 g) eac;. White, Moss, Beige, Sweet Potato, Elephant Gray, Suede Brown, Hazelnut, Tan, Black, and Red. Sculpey226809	7980-SCHOOL SPECIALTY LLC	SET	\$13.15	3	\$39.45
13900161	ROYAL SOVEREIGN CLAY SHAPER SET OF 5 TIPS, SMALL04935-0207	4305-BLICK ART MATERIALS LLC	SET	\$36.26	1	\$36.26
13900162	ROYAL SOVEREIGN CLAY SHAPER SET OF 5 TIPS, REGULAR890851	8551-ODP BUSINESS SOLUTIONS LLC	SET	\$42.43	1	\$42.43

Commodity	<u>Description</u>	Vandar	Unit of	Awarded	Otre	<u>Extended</u>
<u>Code</u>		<u>Vendor</u>	<u>Measure</u>	<u>Price</u>	<u>Qty</u>	<u>Price</u>
	Dowel, birch, 1/2" dia., 36" long; 10 per box CHENILLE KRFT;7054065150300926A;NASCO	6156-NASCO EDUCATION LLC	вох	\$8.50	2	\$17.00
13900180	Dowel, Birch, 1/4" dia., 36" long; 10 per box CHENILLE KRFT;7054065120300923A	6156-NASCO EDUCATION LLC	BOX	\$3.20	2	\$6.40
	Dowel, Birch, 1/8" dia., 36" long; 10 per box CHELNILLE KRFT;7054065090300921A;NASCO	6156-NASCO EDUCATION LLC	BOX	\$2.30	2	\$4.60
	Glasses, Protective Glasses Durable polycarbonate lenses, ANSI Z87.1 requirements for eye protection. Sax 705 401181 -57010 EH FIOS	172200-KURTZ BROTHERS	EACH	\$1.22	20	\$24.40
	MODELING COMPOUND, Polymer, 2 oz., BLACK; Pliable at room temp; fires permanently hard in home oven. Sculpey or Fimo - 9715477C33218-2004	4305-BLICK ART MATERIALS LLC	EACH	\$1.72	30	\$51.60
13900290	MODELING COMPOUND, Polymer, 2 oz., WHITE; Pliable at room temp; fires permanently hard in home oven. Sculpey of Fimo - 9715477A33218-1004	4305-BLICK ART MATERIALS LLC	EACH	\$1.72	30	\$51.60
	MODELING COMPOUND, Polymer, 2 oz., RED; Pliable at room temp; fires permanently hard in home oven. Sculpey or Fimo - 9715477F33218-3004	4305-BLICK ART MATERIALS LLC	EACH	\$1.72	30	\$51.60
	MODELING COMPOUND, Polymer, 2 oz., ORANGE; Pliable at room temp; fires permanently hard in home oven. Sculpey or Fimo - RA0720533218-4514	4305-BLICK ART MATERIALS LLC	EACH	\$1.72	30	\$51.60
	MODELING COMPOUND, Polymer, 2 oz., YELLOW; Pliable at room temp; fires permanently hard in home oven. Sculpey or Fimo - 9715477E33218-4004	4305-BLICK ART MATERIALS LLC	EACH	\$1.72	30	\$51.60
	MODELING COMPOUND, Polymer, 2 oz., GREEN; Pliable at room temp; fires permanently hard in home oven. Sculpey or Fimo - 9715477H33218-7154	4305-BLICK ART MATERIALS LLC	EACH	\$1.72	30	\$51.60
	MODELING COMPOUND, Polymer, 2 oz., BLUE; Pliable at room temp; fires permanently hard in home oven. Sculpey or Fimo - 9715477D33218-5004	4305-BLICK ART MATERIALS LLC	EACH	\$1.72	30	\$51.60
	MODELING COMPOUND, Polymer, 2 oz., VIOLET; Pliable at room temp; fires permanently hard in home oven. Sculpey or Fimo - RA0720833218-6504	4305-BLICK ART MATERIALS LLC	EACH	\$1.72	30	\$51.60
	MODELING COMPOUND, Polymer, 2 oz., BLUE-GREEN (Turquoise), Light; Pliable at room temp; fires permanently hard in home oven. Sculpey or Fimo.33218-5114	4305-BLICK ART MATERIALS LLC	EACH	\$1.72	30	\$51.60
13900370	MODELING COMPOUND, Polymer, 2 oz., GOLD; Pliable at room temp; fires permanently hard in home oven. Sculpey or Fimo - RA0721333218-4054	4305-BLICK ART MATERIALS LLC	EACH	\$1.72	30	\$51.60
	MODELING COMPOUND, Polymer, 2 oz., SILVER; Pliable at room temp; fires permanently hard in home oven. Sculpey or Fimo - RA0721233218-9300	4305-BLICK ART MATERIALS LLC	EACH	\$1.72	30	\$51.60
	MOSAIC TILES; CLASSICO; COLORFUL, GLAZED, GLASS TILES, 3 LB BAG MINIS 5/16"34993-1516	4305-BLICK ART MATERIALS LLC	BAG	\$28.45	2	\$56.90
	PARISCRAFT FABRIC, 20 LB. CARTON Open weave, plaster-impregnated cloth; molds easily when moistened; widths 2" - 6". Plastercraft II 5272 - PLASTERCRAFT;5272399398	7980-SCHOOL SPECIALTY LLC	PACK	\$45.35	1	\$45.35
	SCULPTURE MEDIUM, MODEL MAGIC 2 lb. bucket; sculpture medium. CRAYOLA - 4400178780	5718-CASCADE SCHOOL SUPPLIES INC	EACH	\$14.74	17	\$250.58
13900605	SPONGES: 3M Commercial Cellulose Sponge 6.0 inch x 4.2 inch x 1.6 inch.38014-1006	4305-BLICK ART MATERIALS LLC	EACH	\$2.22	148	\$328.56

Commodity Code	<u>Description</u>	Vendor	<u>Unit of</u> <u>Measure</u>	Awarded Price	<u>Qty</u>	Extended Price
13900615	Stampers, Giant, Large 3 inch with foam grip for easy holding, Geometric shapes set.408843	7980-SCHOOL SPECIALTY LLC	SET	\$11.10	2	\$22.20
13900616	Stampers, Giant, large 3 inches with foam grip for easy holding, Insect set.410445	7980-SCHOOL SPECIALTY LLC	SET	\$7.80	1	\$7.80
13900644	Art-Straws, 1800 per pack, Paper Straws are easy to bend, cut, or color with markers and watercolors, and they stick with school glue.200216	7980-SCHOOL SPECIALTY LLC	PACK	\$33.65	1	\$33.65
13900720	Twisteez Bulk Pack 200 30" pieces of twisteez wire 4230642306	172200-KURTZ BROTHERS	PACK	\$24.39	3	\$73.17
13900790	Wire, 16 gauge annealed black, stovepipe, 5 lb. coil224004	7980-SCHOOL SPECIALTY LLC	EACH	\$19.20	1	\$19.20
13900910	WOOD, Bits O' Wood 17 lb. Box of wood scraps BITS O WOOD;705309762180156	5718-CASCADE SCHOOL SUPPLIES INC	BOX	\$13.38	4	\$53.52
					689	\$61,758.83